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ABSTRACT 

 

The purpose of this research is to study of management trend problems and obstacle 

of frequency spectrum for Citizen band (245 MHz) which the relevant organization can be used 

as the guideline in managing the frequency for Citizen band (245 MHz) for the business units 

including people to increasing the economic value of productivity and to provide services in every 

sectors with efficiency and effectiveness.  The researcher use the Delphi techniques in gathering 

the opinions.  The tools for this research are open end and scaled answering questionnaires.  The 

statistical analyzing the data are mean, median and quartile range. 

From the research found that the study of improved management guideline of 

frequency spectrum for Citizen band (245 MHz) is the management which concerned on the most 

efficiency of public beneficially and social beneficially without any strong level disturbance 

which can be used together on the suitable occasion and response to apply radio frequency to 

maximized benefit for the country in general by bringing the modern technology which certified 

by the International Telecommunication Union : ITU standard to prevent the disturbance which 

occurred from transceiver as the first step.  When there is any disturb occurred, the concerned 

organization has to search and find the source of the disturbance.  In this regard, there is a need to 

have the effective tools in the searching throughout the country in addition to the experienced 

personnel. Moreover, the users of transceiver are very important therefore the need for training 

and providing knowledge on technical basic and the concerned law such as the Communication 

Radio Act 1955 are essential. 

This research is focus on 3 parts which are setting standard technical, verifying the 

use of frequency and enforcement against criteria and law. 
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ก���������	
���
�����
���� (spectrum management) !"#�ก�$�
�ก����%&'��ก��
������ ()�%��	*ก+,$!ก���
-'.%ก*�/�01�213�% 4 5��6"7��0�
����ก�� (interdisciplinary) �*<%&'��
�*="�$/�0�/�01�2 &'��
�/
ก���/�01�2 &'��ก>���� &'��!/�+=/�01�2 7	$&'��!��?�?	�� 
13�% 4 ()�%�@���"�$��ก125A'5�713	$����� !B
�."�$ก*�
3�ก�Cก��
����������7	$�$��
����
������C$�@�%��D&'.�3�%��"�$0��E�F�B ?&�"��/C�กก����ก
��$&*����7�%()�%ก*�7	$ก*� 
�*<%��< !B
�.1.�0�.%5�'ก��"�$��ก125A'�
�����
����ก3.5�'!ก�&G	"�$?�A�206%0�&�*<%5��$&*��$�
3�%
"�$!�/7	$�$&*�"�$!�/ ?&�!"H�����-.%ก���������
�����
���� �
. !B
�.!B���"�$0��E�F�Bก��
5A'�
�����5�'��ก���0�& 7	$!B
�.	&ก����ก
�5�'!ก�&-)<��'.����0�& 

&'
��$!����-'.ก@���&ก��D"�+,��2?��!	- 7	$!�1�G	�
���*���%7�3%A�1� 
ก��D"�+,��2?��!	-!�I�!���$0�13.ก�	!
	�
3� "�$A�A���
.F��!.กA����
��C@�!"#�13.ก����

����5A'0
�.0��!B
�.B*J���'��!�
.% 7	$0
*0&�KF�B�
��"	.&F*� -.%"�$A�A� C)%.��L�15�'
"�$A�A���
.F��!.กA� �� 5A'!��
�.%
���������� ?&�ก@���&5�'5A' �3���
�����0@���*�
"�$A�A� (245 MHz) D&'.�3�%�6ก1'.%1��ก>���� ?&�D�31'.%0.�!B
�.-.5�.��L�1 7	$
ก��D"�+,��2?��!	- C)%D&'..ก"�$ก�/ !�
�.% ก��.��L�15�'03
���Aก�� �*=
�0��ก�C ��3
�%��
��
..%�2ก�-.%�*= 5A'!��
�.%
���������� 1*<%0����
�����������3���
�����0@���*�"�$A�A� (245 
MHz) !B
�.
*1��"�$0%�25�ก��"�$0��%��ก*�"�$A�A���
.F��!.กA� 0@���*�5�'�
��
A3
�!�	
.7	$�*�7C'%!�1�13�%4 7ก3��%��Aก�� �@�5�'"�$A�A���
.D&'��03
��3
�5�ก��"H.%ก*�!�1�
�����G	ก�$��13.A�
�17	$��*B�20��&'
� 

!��
�.%
�����������
�����0@���*�"�$A�A� (245 MHz) D&'��ก��B*J��ก��5A'%��
.�3�%7B�3�	��7	$!ก�&"�$?�A�2!"#�C@��
���ก !A3�  

?�%!����7	$���
����	*�!.กA� 0������@���5A'%��5�&'��ก���*ก+��
��"	.&F*�
-.%�*ก/)ก+� %��&'��ก�Cก���ก�S� %��&'��B�E�13�%4 -.%��%0���*�T  
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.�10��ก���ก��"�$�% .�10��ก���"U�D�' .�10��ก���!��
.%7�3 7	$?�%%��
.�10��ก���!ก
.���ก"�$!F�0�����5A'5�ก��-�03%0���'� ก��(3.��@���%!��
�.%C*ก�.�10��ก���  
ก���*ก+��
��"	.&F*�-.%B�*ก%�� ก��1�&13.0
�.0��ก*�?�%%��0�-���
.B�*ก%��-*���D&'
.�3�%��"�$0��E�F�B 03
�.�10��ก������1'.%5A'!��
�.%
����������A��&B�!/+�
. .�10��ก���
!ก���
ก*��<@��*�!A
<.!B	�%��
.
*0&�D
DV !��
�.%
��������������@���5A'%��C$1'.%D&'�*�ก���*��.%5�
!�
�.%ก��!ก�&0���7�3!�	IกDVVH� 

E��ก�C?�%7�� ?�%B����	 ?�%F�B��1�2 7	$/6��2ก���'�13�%4 !"#�1'� �@�5�'!ก�&ก��
���ก�����&�7	$�
&!�I
 !B
�.1.�0�.%�
��1'.%ก��7	$0�'�%�
��"�$�*�5C5�'ก*�	6ก�'� 

�6	��E�13�%4 D&'�@�!��
�.%
����������T ��5A'5�ก��A3
�!�	
.!C'���'�����'��!�
.% ?&�
ก��7C'%!�1�7	$.��*1�!�1�13�%4 D&'.�3�%��"�$0��E�F�B 

&*%1*
.�3�%ก��5A'!��
�.%
�����������	
���
�����0@���*�"�$A�A� (254 MHz) ���5A'
%��!"#�"�$C@�1��A3.%�
������*<% 80 A3.%�
����� &*%��< 

ก��%!�B������  
A3.% 01 C0.100  
A3.% 02 /6��2[��B	�  
A3.% 03 /6��2ก6'F*�B�	T  
A3.% 07 Samhaw member Club CB-245 Bangkok  
A3.% 09 /6��2
�.��2 C��C�  
A3.% 10 /6��2ก6'A�B�6�,$//6��2 (��� !C��L���//6��2��3%���  
A3.% 12 /6��2�������  
A3.% 13 ก	�3�13 �'��1�!�	��  
A3.% 14 /6��2"�$ก*�ก	�%  
A3.% 15 �6	��E�ก6'F*� �3�D���������  
A3.% 16 /6��2B���,  
A3.% 18 j�"?"/j�1�A�/7	$!B
�.�0��A�ก!-1�����	��3%���  
A3.% 21 /6��2B�*�k2&@� 0�.��.%C.ก  
A3.% 25 ( 245.300 ) ก	�3�/6��21�lก1���%  
A3.% 27 .�"�!A3 ก��.  
A3.% 31 �6	��E�.�0���.%C.ก /6��2��ABmก+2  
A3.% 36 /6��2�3
�&'
�T/ก6'F*���*B�20�.%/0��11�!
A  
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A3.% 39 /6��2A�	�ก��%!�B  
A3.% 42 ก	�3�!.��
*,  
A3.% 44 A��� 44 0*�B*�E2ก��%!�BT  
A3.% 46 /245.5625 MHz ก	�3�.�0�$ www.isaraclub.is.in.th  
A3.% 47 /6��27C'%-3�
&.�!�
.%  
A3.% 48 /6��2B�J1�	  
A3.% 49 /6��2BL�.������2  
A3.% 50 /6��2ก6'A�B/��
�A*� 1//6��2B�ED�  
A3.% 51 /6��2ก6'A�B/��
�A*� 2  
A3.% 52 /6��2ก6'A�B
�F�
&�/ก6'A�B
�F�
&����  
A3.% 53 KANGSADARN FREELANDER GROUP(ก	�3�ก*%0&�	 ก��.)  
A3.% 54 /6��2B�$��� 2  
A3.% 57 (ก��.) ก	�3� Golden Antenna 5A'�3
�ก*� ก6'A�B���A*�1  
A3.% 58 ก�� ก	�3�!B
�.�0��A�กA��� !J3��*
%6 !��
.-3��0�����	*ก4 
�%�.� ก��  
7	$5� ก��  
A3.% 62 "���E���(!B
�.�j*�+�)  
A3.% 64 ก6'F*��3�D�� C�&��!1.�2������� ���0��ก0��� 
A3.% 69 /6��2ก6'A�B���A*� 
A3.% 70 /6��2���!��B������  
A3.% 73 /6��2�3
�"���T  
A3.% 75 ก	�3��
�B	*%��.%C.ก  
A3.% 77 /6��2!�����
!
��  
A3.% 79 /6��2
����.��2 �.� ก��%!�B  
A3.% 80 /6��2
����B�$���!ก'� 

�����:  http://www.lampang108.com/wb/simple/?t531.html 
 

C�ก-'.�6	-'�%1'� !"#�ก��5A'%��5�!-1ก��%!�BT 7	$"���,|	 C$0*%!ก1D&'
3� !ก
.�
��กA3.%�
����� ��ก��5A'%��()�%!"#�ก��5A'��*B��ก������'��3�7	$!ก�&"�$?�A�2 

.�3�%D�กI1�� ก��5A'!��
�.%
����������T �����ก��5A'.�3�%7B�3�	��7	$!"#��������5A'
!"#�C@��
���ก C)%�@�5�'!ก�&"}L��ก����ก
�()�%ก*�7	$ก*� 5�	*ก+,$13�%T !A3� ก����ก
����
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!ก�&5�	*ก+,$ก��!ก��-'.ก@���&��%
�A�ก�� ก����ก
����!ก�&C�กG6'5A'%�� !ก�&ก���$!	�$ ก��
C*�C.%�	
���
����� ก����ก
����!ก�&C�กA3.%-'�%!���%7	$ก����ก
����!ก�&C�กก��5A'ก@�	*%03%06% 
	*ก+,$!A3���< �@�5�'ก��5A'�	
���
������6ก5A'%��.�3�%D�3��'��3�!B���-)<�.�3�%��ก  

C�ก�����7	$�
��0@��*L-.%"}L�� &*%ก	3�
-'�%1'� G6'
�C*�C)%
�C*�!�
�.%��<  !B
�.�@�
G	ก��
�C*�D"5A'"�$?�A�2 5�ก���������	
���
�����0@���*�"�$A�A�  (245 MHz) !B
�.	&"}L��
ก����ก
�5�	*ก+,$13�%4 5�'�'.����0�& 7	$!B���"�$0��E�F�Bก��5A'�	
���
�����0@���*�
"�$A�A� (245 MHz) 5�'!ก�&"�$?�A�206%0�& 13."�$!�/A�1�5�F���
� 

 
1.2  ����� �����!���ก	������ 


*1��"�$0%�2-.%ก��
�C*� ��&*%��<  
1.  !B
�./)ก+�7�
��%ก��"�*�"��%ก���������	
���
�����0@���*�"�$A�A� (245 MHz) 
2.  /)ก+�"}L��7	$.�"0���5�ก���������	
���
�����0@���*�"�$A�A� (245 MHz) 

 
1.3  ���#�����ก	������ 

5�ก��
�C*�5�'!"#�D"1��
*1��"�$0%�2���ก@���& G6'
�C*�D&'ก@���&-.�!-1-.%ก��
�C*� &*%��< 
1.  ก	�3�1*
.�3�%���5A'5�ก��
�C*� "�$ก.�&'
�G6'!A���
A�L 0�-�
�/
ก���?��������7	$


�/
ก���DVVH�0
�.0�� �����
�J�ก��/)ก+�D�31�@�ก
3�"��LL�?� ��"�$0�ก��,2�@�%��.�3�%�'.� 15 "~ 
��
. ��1@�7��3%0��%��������5�0�-����!ก���
-'.%D�31�@�ก
3��$&*��*
��'�%�� �*
��'�ก	�3�%�� 

2.  -.�!-1-.%!�
<.�����5A'5�ก��
�C*� 7�
��%ก��"�*�"��%ก���������	
���
�����0@���*�
"�$A�A� (245 MHz) ก@���&D
' &*%��< 

1)  "}L��7	$.�"0���5�ก���������	
���
�����0@���*�"�$A�A� (245 MHz) 
2)  .%�2"�$ก.�-.%ก���������	
���
����� 
3)  ก��ก@���&��1�=����%!����� 
4)  ก��1�
C0.�ก��5A'�	
���
����� 
5)  ก���*%�*�5A'ก>!ก,|27	$ก>���� 

3.  !��������5A'5�ก��/)ก+�7�
��%ก��"�*�"��%ก���������	
���
�����0@���*�"�$A�A� 
(245 MHz) 5A'
�E�ก��&'
�!�����!&	V�� !B
�.�
��
��
����&!�I�-.%G6'!A���
A�L 

4.  �$�$!
	����5A'5�ก��/)ก+�
�C*� 7�
��%ก��"�*�"��%ก���������	
���
�����0@���*�
"�$A�A� (245 MHz) 5�"~ B./. 2553  
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1.4   ��%�&�!����	'�(	��)'*��� 

"�$?�A�2�����&
3�C$D&'�*� ��&*%��< 
1.  0@��*ก%���,$ก���ก��ก�Cก��?��������7�3%A�1� 0������@�G	ก��
�C*���< D"5A'!"#�

7�
��%5�ก��"�*�"��%7ก'D- ก> �$!���� -'.�*%�*� !ก���
ก*�ก��5A'�	
���
�����
���� 7	$!B
�.5�'
!ก�&ก��5A'"�$?�A�2.�3�%06%0�&7ก30�E��,$A� 

2.  0@��*ก%���,$ก���ก��ก�Cก��?��������7�3%A�1� 0������@�G	ก��
�C*���< D""�*�"��% 
-'.ก@���&��%
�A�ก��-.%!��
�.%
����������0@���*�"�$A�A� �	
���
����� 245 MHz !B
�.5�'ก'�

�*�ก*�!��?�?	��5�"}CC��*�D&' 

3.  ก��B�C��,�ก��C*&0��ก��5A'�
�����0@���*�ก��"�$0��%��5�ก��A3
�!�	
.G6'"�$0�F*�
13�%4 �$�
3�%��3
�%��F���*=7	$�6	��E�0�E��,$ก�/	 �
��*<%F��"�$A�A� .�3�%!"#��$�������
"�$0��E�F�B ?&�"��/C�กก����ก
�ก*�ก*� F��E��ก�C ���ก�� 7	$.�10��ก��� 
 
1.5  ��	���	�,�-�!#.-	� 

�����/*B�2���5A'5�ก��
�C*� ��&*%��< 
1.  ก���������	
���
����� �����)% ก��������C*&ก��7	$ก��ก@�ก*�&67	ก��5A'�
�����
���� ()�%

!"#���*B��ก������C@�ก*& !B
�.5�'!ก�&"�$?�A�206%0�&13."�$A��� ��
."�$!�/A�1� ?&�1'.%5�'��
�
��0�&�	-.%ก��ก@�ก*�&67	 ก��7-3%-*�?&�!0�� 7	$ก��7"��6"C�กก�Cก��-.%�*=D"!"#�!.กA� 
(privatization) ก���������
�����
���� C)%1'.%.�/*��	*ก
�/
ก���/�01�2 �*="�$/�0�/�01�2 
��1�/�01�2 7	$!/�+=/�01�2 5�ก��������C*&ก�� 

2.  0�
����ก�� �����)% �
��0��������C$"�$��ก125A'7	$�6�,�ก���
���6'C�ก/�01�20�-�
13�%4 !B
�.0�'�%7	$B*J��5�'!ก�&G	G	�1 1	.&C�ก��5A'�
���6'5�ก��7ก'"}L��&'��13�%4 5�
0*%�� 

3.  0@��*ก%�� ก�A. �����)% 0@��*ก%���,$ก���ก��ก�Cก��?��������7�3%A�1� ("}CC��*�
D&'!"	����!"#� 0@��*ก%���,$ก���ก�� ก�Cก��ก�$C��!0��% ก�Cก��?���*/�2 7	$ก�Cก��
?��������7�3%A�1�)  ��'����5�ก���������
�����
���� !B
�.ก�Cก��?�������� 7	$ก@�ก*�&67	
ก��"�$ก.�ก�Cก��?�������� !B
�.5�'!ก�&"�$?�A�206%0�&7ก3"�$A�A� �*<%5��$&*�A�1�7	$
�$&*��'.%���� �*<%5�&'��ก��/)ก+� 
*J�E��� �
���*���%-.%�*= 7	$"�$?�A�20�E��,$.
��4 
�
��*<%&67	7	$G	*ก&*�5�'!ก�&ก��7-3%-*�?&�!0��.�3�%!"#�E��� 7	$ก��03%!0���5�'!ก�&ก��
�C*�
7	$B*J��.�10��ก���?��������D�� 
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4.  /6��21�
C0.�ก��5A'�
�����
���� 7	$0����1�
C0.�ก��5A'�
�����
���� �����)% /6��2 
��
. 0���� 1�
C0.�ก��5A'�
�����
���� 0*%ก*&0@��*ก%���,$ก���ก��ก�Cก��?��������
7�3%A�1� ("}CC��*�D&'!"	����!"#� 0@��*ก%���,$ก���ก�� ก�Cก��ก�$C��!0��% ก�Cก��?���*/�2 7	$
ก�Cก��?��������7�3%A�1� 03
�F6��F�� !-1 1 - 14) �@���'����1�
C0.�ก��5A'�
�����
����
������ 7ก'D-ก����ก
��
�����
���������� ..ก5�.��L�15�ก�Cก��
����"�$A�A� 

5.  �	
���
�����0@���*�"�$A�A� �����)% �3���
��������"�$A�A��*�
D"0�����5A'D&'�3
�ก*� 
?&�D&'�*�ก���ก!
'� ก��.��L�1!"#�B�*ก%��
���������� !A3��
������3�� 27 MHz �3�� 78 MHz 
�3�� 245 MHz 

6.  -'.ก@���&��%
�A�ก��  �����)% -'.ก@���&��%&'��!�����-.%!��
�.%�*� 03% 
���������� 
���0@��*ก%���,$ก���ก��ก�Cก��?��������7�3%A�1�ก@���& 

7.  �	
��
���� �����)% �	
�� 7�3!�	IกDVVH��
�����1�@�ก
3� 3000 GHz 	%��7B�3ก�$C��5�
.�ก�/?&�"��/C�ก0��%�@�!���� �	
��C$!&����%!"#�!0'�1�%?&�����/��%1*<%[�กก*�0���7�3!�	Iก
DVVH� ���
��!�I
!�3�70% (3 x 108 !�1�/
�����) !&����%G3��0�LL�ก�/D&' 7	$�*ก!�D&' 

DPU



 

 

����� 2 

��	
�� �
��� ��������	��������ก���	���� 
 
ก������	
���
� ก����ก���������ก����������������������������� !�!� (245 MHz) 

*+�����	,-���ก����  �������.�
�+���ก

ก����� �������	/��
ก��	�.�
�
0��

�1����/��2� ก������	 
,-��ก3 ก����������������������/	4 5���*+�����	,-�ก����-
��6�� ก
�ก��������������������,�� -����7 

1.  ก��ก����-��:�;��/��
/���� 
2.  ก��:����
�ก��2!������������� 
3.  ก��������2!�ก=
ก>?6�� ก=���	 
ก�������������������� 
�1�ก� ���ก����������-ก��/��0	�ก���������������/	4/�7�2�

� -���� 
/��� � ��3���� 
/� ����ก�> /��
ก��	�.�
�ก��ก���� 	4ก:62!����:�6:3��@ /�7�-���
����ก������:�6 ��;�� �������:�6 ��:����:�6 
���;���:�6 :�
-��-���
/�����	�:3��@ 
0��

�� ก���3�ก��ก����/	4�������� � ����/	4������/�����
	3������ ��/A�B�0 �-	������ก 
ก����ก��5���ก���� ก��2�� -���4���� �� 
0��
2��ก��2!����/��0	�ก��������/	4ก3
2��
ก�-
�� �	!�6�+��4-/�7�2�� -���� 
/��� � ��3���� 
/� �-	��ก��ก���
ก��	�ก��ก��ก��ก��-+��  
ก��2!���������������/	4 ,-��ก3 ก��ก����-��	��	ก��������������� ก����-/��:����ก����-
������� ก����-/���*����������/	4 ก����-������������/	4 ก��:����
���ก�> /����!�ก��.
�   

����
���/	4������ ����4���:�;��/��
/�����������/	4������  ก��

ก2�
�4C�::3��@  
ก���� ���������������/	4 ก��:����
�ก��2!����������/	4�� ก��������2!�ก=���	  

2��D��4��� ��กก��/���� 
/�:3��@ 2���ก,-��������3����
ก����ก.�7�2�/4ก@ -���   
,�3�3�� 
�1�/�7�/��-���
���;ก�� ����� �� ก��
��
� 2��3��.
�ก��ก�����
����/������� กE

!3�ก��,-��������3����
� -����ก�
0��
2��
ก�-ก���� ����
-���
�ก��2�ก�������������
���������/	4 �-	� 
�E�,-���กก���� !4�2�� -��B+��B���� � -����ก.
���B�0�/�������
� ��3���� 
/� (International Telecommunication Union ITU) �� ก��ก���/����-/��.�7��-	�3��
���	3
	.
� ITU ��7� :�
�ก��ก�����3���3��.
��� 
/����!�ก/�����ก
	3��
.���.E��� :3

���
� 
ก�����3���3��-��ก�3�� ,-��ก3 ก��ก����-/3�/�.
��� 
/����!�ก:3
.�

��
:3��@ 2�/���� !4�
�� ก��
.���3���� !4�� ��3���� 
/�.
��� 
/����!�ก    
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ITU 	��/������/��
�1�*+��� ������ก��2!���������������/	4.
���ก �� ��	/ 
��	�
��������������/	4��ก /������/��2�ก���-���/�กก��2!���������������/	4�� �� ������ 
0��
,�32��

ก�-ก����ก��5���ก���� ก���� ������������/	4��2!�2��
ก�-�� �	!�6�+��4- �-	 ITU  ,-�

ก
.�
��������/	4��ก� (Radio Regulations : RR) 
0��
2���� 
/����!�ก:3��@ ���ก=� 
��	� .�
������ 
,�ก��ก��-+��ก����������������������/	4.
��� 
/����!�ก �� 2!�
�1����ก
���
�� 2�ก��
�ก��DC��
���

ก�-�DC��ก����ก��5���ก���� ก�� (Harmful interference) (
���;0��6 � ���4���>, 
2553:  
���	�) 

ก����-�����������������/	4.
�B��

ก!� 
�1�ก� ���ก��
�4C�:2��2!����������/	4

B�	2:�
���
�,./��ก����- 
0��
��
�:3
����:�
�ก��2!����������/	4 �������ก�����
���,����	 � ��

�/���0/6
����
�/�� ก��ก����/	4�� �/�/���6 ก��ก���/������� ก��ก��/���ก/���7���� 
�ก�� �� 

� �����
���-��
/�	� 2��2!�
�1�,�
	3����
�:4��*� �� �	�- ���� ��/A�B�0�� 
ก�-�� �	!�6�+��4- 


��� ��ก���4>�3�  

2�ก����7� :�
�����A���-�����������������/	4/��
��� ��:�����ก��ก� �� ����3�	���

ก��ก��-+��/���
	��-/�� ���กก����������������������/	4 2���
-���
�ก�����ก��ก�/���� ก
�-��	 

ก��ก����-��	��	�� ก������*�ก����������������������/	4 ก����-/��:����ก����-���������/	4

.
��� 
/� ก��ก����-	3�����������/	4�������ก��ก����/	4������ ก����-/���*����������/	42��:3� 

	3��2��
��� �� 
0��
2���������/	4
0�	�0
:3
ก��2!������ ,�3
ก�-�DC��ก����ก��5���ก���� ก�� 

������ก����� ก= � 
��	� �� .�
������ก��2!���������������/	4 2��������
��� ��ก����ก�> 

.
��� 
/�:�

�  

�
ก��ก��7����� ก����-�����������������/	4� :�
���������������
-���
�:��

�*����������/	4�� ก��ก����/	4 ก��-��
���ก��2�
�4C�:��/	4������ ก��ก����-��:�;��/��


/������ :����
���ก�> /����!�ก��
����
���/	4�������� �������/	4������ ก��

:����
�ก��2!���������������/	4 ก���\
�ก���� �ก�,.�DC��ก����ก��.
���������������/	4 

:�
-��ก���� ������������ ���/	4/� 7�B�	2��� 
/��� � ��3���� 
/� 2��������2!�

�������/	4�3��ก��,-��-	������กก����ก��5���ก���� ก�� ������ก���� !4�� ��3���� 
/�
0��


ก����-ก=ก:�ก�2�ก��2!���������������/	42�ก���3�
����ก����ก����������� ����	.
�ก��

�� 	4ก:62!���������������/	4.
�B��

ก!� (
�4!� ��ก���, 2551) 
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2.1  ก����� ��
�!��
	�"#��	���$ 

2.1.1  ���กก����������������������/	4 
���กก�������Cก����������������������/	4 ��
 ก��/��2��
ก�-�� �	!�6�+��4-:3


��A��> ��กก��2!���������������/	45���:�
�
	+3��0�7�;��������-4�	6� ��3��ก=� 
��	��� 
����:�
�ก��-�����A��>  
���;ก�� ����� ��^�A��� ก����ก�� �� ����������.
���; �-	��

��6�� ก
�.
�ก�����������������/	4 -����7 


��6�� ก
�.
�ก� ���ก�����������������/	4 ��-�,��2�B�0/�� 2.1 5���0
� ก�3��
��	� 

�	-,-� -����7  

 
 
B�0/�� 2.1  
��6�� ก
�.
�ก� ���ก�����������������/	4 
 

/����:  International Telecommunication Union. (1995).  Spectrum Monitoring Handbook.  
          Chapter 1,  Section 1.1.  
 

2.1.1.1  ก��ก����-���������/	4  (spectrum allocation) 
�1�ก� ���ก��/����3�	3��
���������/	42��ก��ก��ก����/	4:3��@ /�7�2�ก�>�.
�ก��2!�
0�	�ก��ก��
-�	� ���
2!��3��ก��ก��ก��
��� 
5���2�� -��� ��3���� 
/� ก��ก����-���������/	4� ก� /��*3��/���� !4�2�C3� -����ก�3�-��	
��/	4������ (World Radio communication Conference  WRC) �� ก����-,��2���:�� 5 .
�
.�
��������/	4 (Radio Regulations) 5����� 
/�:3��@ กE� ���:����ก����-���������/	4/�����กf2�
.�
��������/	4��7���
�1�:�����2�ก��ก����-���������/	42��ก��ก��ก����/	4:3��@ B�	2��� 
/� 
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2.1.1.2  ก��ก����-���������/	42��ก��ก��ก��:3��@ ��7� ���
�1�:�
������������ก�> ก��
�0�3ก� ��	�������/	4/��
��� ���������ก��ก����7�@ 
�1�:���3� ก��ก��/��:�
�ก���0�3ก��ก� ��	
�����2�����������
���4�0�7�/�����
�>ก���� 
!3� ก��ก����/	4�/�/���6 กE� ก����-2��2!��������
��/	42�	3��  VHF low band ก��ก��/��:�
�ก��0�7�/����
���4�2���ก�> ���ก�- 
!3� 2�ก��ก��

����
�/��/���ก กE� ก����-2��2!����������/	42�	3�� VHF high band ���
 UHF �� ก��ก��/��
:�
�ก����
���4�0�7�/��/�����ก 
!3�ก��ก��/��/ 
� กE� ก����-2��2!����������/	42�	3�� HF 

2.1.1.3 ก�����ก=� 
��	� (rules and regulations) ��B�0�/�������� ��3��
�� 
/� (International Telecommunication Union  ITU) �-	�� 
/����!�ก� 
�1�*+�ก����-ก= 
� 
��	��� .�
������/���,��������ก�����������������/	4,��2�.�
��������/	4 5���������B�0
�1�
ก=���	� ��3���� 
/� �-	�43�
���/��ก��ก����-���������/	4�������ก��ก��:3��@ �� 
���
�,.ก��
2!����������/	45����� 
/�:3�� @ กE� ก����-ก=���	 ก=� 
��	� .�
������:3��@ 2��
��� ��ก��
�B�0��-��
��� 
�\����	2�ก��2!����������/	4.
��:3� �� 
/��� 2���
-���
�ก��.�
������
��/	4 �4-�� ���6.
�ก=���	�� ก=� 
��	�
��3���7 กE
0��

�1����/��2�ก����������-ก��

ก��	�ก�����������/	4 �� ก��������2!�ก=� 
��	�
��3���7� 

2.1.1.4  ก����-ก��;��.�
�+� (database management) 
���
���กก�����������������/	4
���
�1�:�
�
กE������� �� 
��	ก2!�.�
�+�.
��������/	4���������
� �����
���:3��@ �����
�������
�1�/��� :�
���;��.�
�+�
0��
�
����ก��2!����2���ก�> -��ก�3�� ;��.�
�+���7 � !3�	
��
��� �6/��-�������ก����� -�����������-ก��2��
�1�,��-	� -�ก�� ��-
�E� /�7�2���3.
�
ก������ ��/A�B�02�ก��2!����������/	4 ก���f���:�:��ก=� 
��	��� 
���
�,.ก��
�4C�: �� 
ก��.��-ก����ก��� ��3��ก�� 5�����ก
�1�� ��;��.�
�+����
�:����:� กE� !3�	
����	����
� -�ก,-���ก	���.�7� 

2.1.1.5  ก���� ���������������/	4 (frequency coordination) �4-�� ���6�����.
�
ก�����������������/	4กE
0��
��-������������/	42��ก��ก��ก����/	4���������	 ก��ก�� �-	2����
������*+�2!���ก/���4- �� 2����ก����ก��
ก�-.�7���
	/���4- ก��2!����������/	4�3��ก��2���ก�> 
-��ก�3�� ���
�1�:�
� m�� ������n � ��3��*+�2!����������/	4 
0��
�� 
�������
.��ก��,-� 
(compatibility) � ��3��ก��ก�����
� ����/	4������ /�7�� -��B�	2��� 
/��� � ��3���� 
/� 

2.1.1.6  ก����-��� ก��
�4C�: �� ก�������� (licensing, assignment and administration) 
ก� ���ก����-��� ก��
�4C�: �� ก��������
�1�ก� ���ก��
�4C�:/����3�	�����;
�4C�:2��
��3�	������
�4���2!����������/	4 5����3��2�C3� 
�1�ก��
�4C�:/����
�	4���ก�- (
!3� 5 �p) /��
���
�1�:�
���ก��.

�4C�::3

�	4ก��2!����������/	4-��ก�3�� �� ���
�1�:�
�����ก���ก�,.2��

DPU
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��3�	�����;/���2�ก�>�/����ก���ก�,.
����	�������	� 

�	-/��
/����.
��������/	4������
���

����
���/	4������ /�7���7 .�7�:
�-��ก�3���
ก��ก� !3�	2�ก����-� ���� 	��	������
�+ก:�
�.
�.�
�+�2�;��.�
�+����� 	��
�1���	,-�2����;
�ก/�������-��	 

2.1.1.7  ก��:����
��� 
r\�sD���/	4 (spectrum monitoring) ก��:����
��� 
r\�sD�
��/	4   � !3�	������4�2��.�
�+�/�����
�1��������ก�����������������/	4�-	���/�7���- ,�3�3�� 

�1�2���3.
�0�����
:
�6/��
/����.
�ก���0�3 �����>ก��2!����������/	4.
�!3
���CC�>���

.
�	3��������� ก���ก�,.�DC��ก����ก�� ก��0��+��6/����������/	4������/��,�3,-����
�4C�: 
�� ก��
r\�sD����������/	4�������ก������
�:4t4ก
t�����
����
�:4
���� 5���.�
�+�/��,-���กก��ก���

��3���7 � 
�1�.�
�+�/�������C2�ก��0����>�-��
���ก��.
��3�����
���/��
ก��	�.�
� 

2.1.1.8  ก��������2!�ก=� 
��	� (enforcement) 
���
���ก*+�2!����������/	4
��,�3�f���:�
:��ก=���	 ก=� 
��	�/�� 
ก��	�.�
� 5���
���3�*�:3

���
�2��
ก�-ก����ก��.�7�,-� -����7� 
ก� ���ก��������2!�ก=� 
��	� �������/� 2�ก�>�/��ru�rv� ���
,�3�f���:�:��ก=� 
��	�
-��ก�3�����
�1��������
�1� �/���7� .�7�
	+3ก��� -�������4����.
�ก��ru�rv� 
����:�7��:3:�ก
:�
�
-��	���� :�ก
:�
�
�1���	��ก�>6
�ก�� ���� �����
0�ก�
�ก��
�4C�: �� -��
����-�:��
ก=���	 ก��������2!�ก=� 
��	���7 � 
���	*�/��,-���กก��:����
��� 
r\�sD���/	4 �� .�
�+�/��
,-���ก;��.�
�+�
�1����ก 

2.1.1.9  ����ก������������/	4 (spectrum engineering) ก� ���ก��/��-�������ก���
���������/	4� !3�	������4�ก� ���ก�����������������/	42���3.
�.�
�+��� ก
�ก��:�-���2�
/��-�������ก����� 
/�����	� �
ก
���
��ก�D���	�� ก
�
���/��-�������� 
���;ก�� �� 
ก��
��
� �������ก������������/	4��7� ������4�ก� ���ก�����������������/	42�ก���ก�,.
�DC��ก����ก�� ก��ก����-��:�;��.
�
����
���/	4������ ก���� 
�������
.��ก��,-�/��
��3
��Eก,ss\��� ก
�ก��0����>���-������������/	4�� ก��2!����������/	4�3��ก�� 

2.1.2  ก� ���ก�����������������/	4� ��3���� 
/� 
ก�����������������/	4� ��3���� 
/���
��6ก�/�������C��
 ��B�0�/�������

� ��3���� 
/� 5���
�1�
��6ก�!����C0�
��.
����� !�!�:� (UN specialized agency) ������/��
���*�-!
��3�
����ก��0�^���� �� ������
ก��	�ก��ก��ก���/��������� ก��ก����/	4
������ 

��B�0�/�������� ��3���� 
/�,-�-��
���ก���� !4�2�C3� -����ก�3�-��	��/	4
������ (WRC) /4ก�
��������p �-	/���� !4�-��ก�3��� ��
���������/��2�ก��������4��ก�,.
.�
��������/	42��/�����	 
�1��D��4��� �
-���
�ก���� :
���
�:3
����:�
�ก��2!����������/	4

DPU



12 

�� ������-��
/�	�.
��� 
/����!�ก/��
����	�����,�:��
����� 
/�����	� �-	� �43�
���
/��ก��ก����-���������/	4�������ก��ก��:3��@ ก�������-/ 
��	�ก��2!����������/	4 ���/��ก��
�� ���������������/	4 ก=
ก>?6�� ��A�ก��-��
���ก��:3��@ 
0��
�� ก��2��ก��ก����/	4:3��@ 2!�
���������/	4�� ������-��
/�	�
	3������ ��/A�B�0  

��B�0�/�������� ��3���� 
/�	��,-�-��
���ก���� !4�2�C3� -��B+��B���3�-��	
��/	4������ (Regional Radio communication Conference RRC) 5���� :
���
�:3
����
:�
�ก��2!����������/	4.
��� 
/����!�ก2��:3� B+��B��/��
��� �:ก:3��ก��,�:����ก�> ก��
2!������ 
���
�,.
t0� .
�B+��B����7� /�7���7 *���0A6.
�ก���� !4�2���ก�> -��ก�3��� 
�1�
.�
:ก�� ���
�*����������/	4�������B+��B����7� 
	3��,�กE:�� .�
:ก�����
�*����������/	4
-��ก�3��� :�
�,�3.�-���
�	��:3
.�
��������/	4 �� ,�3����������/��CC�:�.
�.�
:ก�����
�*�
���������/	4��7� ,�������2!�ก���� 
/�/��
	+3�
กB+��B��,-� :��
	3��.
�ก���� !4�2�C3� -��
B+��B���3�-��	��/	4������ ��
 ก���� !4�2�C3� -��B+��B���3�-��	��/	4������
0��
��-/���*�
���������/	4�/�/���6� ��-���:
�.
�ก�43��� 
/�	4���  

.�
��������/	4.
���B�0�/�������� ��3���� 
/� 5���������B�0
�1�ก=���	
���
��A���CC�� ��3���� 
/� � ก����-���������/	4/��� 2!���� ก=
ก>?6 �� 
���
�,.ก��2!�
���������/	42��:3� ก��ก�� ก� ���ก���� ���������������/	4�� �����-/ 
��	����������/	4 
�-	��3�

ก
�1� 4 �3�� ����	� 

�	- -����7 

.�
���������ก (Article) ������ 9 �/ (Chapter) 59 ��:�� 5���� 
�1�:��.�
���������ก 
5���� ก�3�������0/6�� �����	�� ก��ก����-���������/	4 ก���� ������ ก�������-/ 
��	� �� 
ก�����/�ก.�
�+�ก����-������������/	4 �� ก��.
�ก�,.�*����������/	4 ก����ก���� ก��
�ก�,.��-ก�� �/��CC�:��3�-��	 ก��ก����/	4�������:3� ก��ก�� ก��2!����������/	42�ก�>�
�:4
t4ก
t���� 
���� �� �����*�������2!�.
�.�
��������/	4t���-��ก�3��  

B��*��ก (Appendix) ������ 24 B��*��ก 5���� 
�1��3��
����.
�.�
���������ก 
�:3� ����	� 

�	-/��
/���� ���
��

ก����� ก
�
�1���������ก��,�3
��� ��/��� 
	+32�
�3��.
�.�
���������ก ��������,��2�B��*��ก 5���B��*��ก/�������C 
!3� �*����������/	4 (ก����-
!3
���CC�>) �������ก��ก��
����
�/��/��/ 
�2�	3�� HF ��  VHF �*����������/	4�������
ก��ก��
����
�/��/��ก�����2�
���/�����0�>�!	6�� �
ก
���/�����0�>�!	62�	3�� HF �*�
���������/	4�������ก��ก����/	4�/�/���6*3��-��
/�	� ��ก�> /��
/����.
��������/	4ก� ��	 

��	�/��2!�ก���
-+
�:��� SSB ��  DSB �� �3�.�-���ก�- (limits) /��ก����- 
!3� .�-���ก�-ก���0�3
���ก��
� .�-���ก�-�3��������-
����
��������.
�
����
��3�/��	��	
�,-�  
�1�:�� 
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.�
�:�.
�ก���� !4�2�C3� -����ก�3�-��	��/	4������ (WRC Resolutions) �� 
.�

��
�� .
�ก���� !4�2�C3� -����ก�3�-��	��/	4������ (WRC Recommendations) 5���� 

�1�.�
�:�.
�/���� !4�2�
���
�:3��@ /��
�E��3����
�1�:3
ก�����.�
��������/	4,�2!� 
!3� ก��� �42��
.�
��������/	4�����:����*�������2!�ก3
����/��.�
��������/	4t������+�>6� ��*�������2!� ���

���/��ก���f���:�.
���B�0�/�������� ��3���� 
/�2�ก����������-/ 
��	����������/	4
2����ก��ก��
�1�ก�>�0�
��
���
���กก���
�	��	�������� ��3��ก��ก�� ���
ก�����:�2��
/��ก����ก��2�
���
�
�3�-3��/��
	+32�������2��� � �����0����>�2�ก���� !4� WRC ���7�
:3
,� :�
-�����.�
�:�/��ก�3������ 
��	���� ก���� !4�.
�ก���� !4� WRC ���7�:3
,� 
�1�
:�� �������.�

��
�� .
�/���� !4�กE� 
�1�ก��
��
�� 2�
���
�:3��@ ,�3�3�� 
�1�/��-���
���กก�� ���/�� -���
/���� ���
���.�
ก����ก��/��ก���� !4����7�:3
,����
�� 
/����!�ก���
� 2��������2� 
!3� ���กก��/�����0����>�2�ก��ก����-���������/	4 ก��2!����������/	4�������
ก��ก��
����
�/��/��/ 
�2�ก�>�.
�/���7��B�	2��� 
/� ���
�+����2�
�4C�:�������
��
�� 

�ก��	�� 
�1�:�� (
��3�6 ��	���6, 2548) 

2.1.3  ก���������������.
��� 
/� 
�� 
/�,/	2�;�� �� 
/����!�ก.
���B�0�/�������� ��3���� 
/� ,-�

�
����	����/���������*�-!
�2��ก��,���>�	6�/�
�.-��
���ก�����������������/	4.
�
�� 
/� B�	2:��/��CC�:�.
� 0� ��!��CC�:���/	4������ 0.�. 2498 �� /���ก�,.
0���
:�� ���/�7�

�1�:���/� (��3�	���������) 2�ก���� ������2�ก��ก���/��������� ก��ก����/	4
������� ��3���� 
/�ก����B�0�/�������� ��3���� 
/� �� �� 
/����!�ก:3��@ 
0��

��ก��*��� �	!�6.
��� 
/��-	�3����� 

ก�����������������/	4.
��� 
/�,/	  ,-�-��
���ก��B�	2:�0� ��!��CC�:���/	4
������ 0.�. 2498 �� /���ก�,.
0���
:�� �� � 
��	��3�-��	ก����-�� ���������������/	4��3�!�:� 
0.�.2518 5�����;��:���3�ก��ก� /�����������ก��ก��:��� 
��	���7 �-	���> ก���ก��
�� ������ก����-�� ���������������/	4��3�!�:� (ก��.) �� ก
�-��	��;��:���3�ก��ก� /���
������
�1��� A�� *+��/��3����!ก��:3��@ �� *+�/���4>�4 �̂5���ก� /���������,-��:3�:�7�
.�7�:���:��> ��;��:�� 
�1�*+�ก��ก��-+��ก�����������������/	4.
��� 
/� �-	ก��,���>�	6 
�/�
�./������/��
�1�ru�	
�.��4ก��.
��> ก���ก��| /�7���7 �> ก���ก��| ��
���������/�� -����7 

2.1.3.1  ก����-��	��	�� 
�4��:�ก��2!��*����������/	4��3�!�:� 
�> ก���ก���� ������ก����-�� ���������������/	4��3�!�:� (ก��.) 
�1�*+�

0����>�ก����-��	��	ก�����������������/	4 
0��
2��ก��0����>���-������������/	4����	��	
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�� ���ก
ก>?6/��
ก��	�.�
�ก��ก��2!����������/	4/��
��� �� 
0��
����4�ก��2!��������/	45���
�1�
/��0	�ก�A���!�:�/����
	+3
	3�����ก�- 2��
�1�,�
	3����
�:4*� �� �	�- �� ���� ��/A�B�0 
������กก����ก��
	3���4����5���ก���� ก�� �� 
0��

����	�� �	!�6-���ก���/�������.
�
�� 
/�
	3������ ��/A�B�0�� 
ก�-�� �	!�6�+��4- 

ก����-/���*����������/	4 ก��,���>�	6�/�
�.
�1�*+���-/���*����������/	42��:3� 
	3��2��
��� ��ก��ก��2!���� 
�1�,�
	3��
�1�� 
��	� �� ,�3
ก�-�DC����ก��ก�� /�7���7 �*�
���������/	4��3�!�:�� :�
�,-����
�4��:���ก�> ก���ก���� ������ก����-�� �������������
��/	4��3�!�:�ก3
������2!���� 

2.1.3.2   
�4��:�ก����-������������/	4 ก��:�7��������/	4������ �� ก��2!�
����
���/	4
������ 

ก����-������������/	4 ก��,���>�	6�/�
�.,-���-������������/	4:���*����������/	4
2��
��� ���������ก��ก����/	4������ ก��ก����/	4ก� ��	
��	� ก��ก����/	4�/�/���6 �� ก��2!�
����� 
B/:3��@ 
�/� �������� ���/���0/6
����
�/�� � �����
���*3��-��
/�	� 
�1�:�� 
0��
2��
������2!��� �	!�6��ก���������/	4,-���ก/���4- 

ก��

ก2�
�4C�:��/	4������ 0� ��!��CC�:���/	4������ 0.�. 2498 �� /���ก�,.

0���
:�� ก����-�� 
B/.
�2�
�4C�:,�� 9 �� 
B/ ��
2�
�4C�:2��/�� �� 2!� ���
.�� ���

ก    
���/53
��5�
����
���/	4������ 2�
�4C�:2��:�7��������/	4������ 2�
�4C�:0��ก�����/	4
������ 2�
�4C�:2�����.3����/	4������:3���� 
/�
0��
ก���~�>� �� 2��/�2�
�4C�: 

2.1.3.3 ก����-��ก�> /��
/����.
��������/	4������ �� 
����
���/	4������ 
ก��ก����-��:�;��/��
/������ :����
���ก�> /����!�ก��
����
���/	4

�������� �������/	4������ 
�1�ก� ���ก��
�4C�:2��*+�,-����ก����-������������/	42!�

��� �
���/	4������/� ���� 4>B�0�
-���
�ก����:�;����ก� 
0��

�1����ก�� ก���3� ก��
:�-:3
���
���� :�
�������!�-
���� ���4>B�0 �� 
0��
�\
�ก����2��
����
���/	4�������0�3
�������/	4��ก��
	3���4����5���ก���� ก�� /�7���7  
0��
2��ก��2!����������/	4
�1�,�
	3����
�� ��/A�B�0 

2.1.3.4 ก����-� 
��	��� ��A��f���:�
ก��	�ก��ก��2!����������/	4�� 
����
���/	4������
2�ก��ก��:3��@ 
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ก��:����
��� 
r\�sD���/	4 B��ก��ก��:����
��� 
r\�sD���/	4����:�4�� ���6

0��
2��ก��2!����������/	4.
���3�	�����!ก�� ��;�����ก�� �� 

ก!� 
�1�,�
	3����� 
��	��� 
���� ��/A�B�0 �\
�ก���� ��������ก��2!����������/	4/��*�-ก=���	���
*�-��:�4�� ���6 
�\
�ก��ก����ก�
�-�กsD�.3��.
�/����!ก�� �� �-ก����ก��2�ก��:�-:3
���
���  

ก�����ก=� 
��	� .�
������ �� ก��������2!�ก=���	�3�-��	��/	4������ 
ก��,���>�	6�/�
�.,-�0����>�
��
.�
�ก�,.
0���
:��0� ��!��CC�:���/	4������ ก=ก� /��� 
� 
��	��> ก���ก���� ������ก����-�� ���������������/	4��3�!�:� �� ก���> ก���ก��
�� ������ก����-�� ���������������/	4��3�!�:� � 
��	�ก��,���>�	6�/�
�. �� �� ก��
ก��,���>�	6�/�
�. 
	3��:3

���
����-	:�
- 
0��
*3
����	ก������4�
����
���/	4���������
��ก�> ���
����� 
B/ 2���� !�!�,-��������� -�ก2�ก��2!������ก	���.�7� �� 
0��
2��

��� ��ก��
/�����	�-���ก�����
���/��0�^��,�
	3����-
�E� �
ก��ก��7� 2�ก��������2!�
ก=���	�3�-��	��/	4������ ก��,���>�	6�/�
�.	��,-��3��ก��
�������/��:�����2�ก��-��
���ก��
:��ก=���	ก��*+�ก� /��*�-0� ��!��CC�:���/	4������
�ก-��	 (ก��,���>�	6�/�
�., 2541) 

ก�����������������/	4
�1���A�ก����-������������/	45���
�1�/��0	�ก�A���!�:� ��
	+3

���ก�- 
0��
�����2!�ก��ก��ก��:3��@ 
	3����� �� ��ก=
ก>?6 2��
ก�-�� �	!�6�4���3���ก/���4- ก��

���������������/	4
�1�ก��ก���/��
ก��	�.�
�ก��ก������*����������/	4 ก����-������������/	4 ก��

:����
��� 
r\�sD����������/	4 ก��

ก2�
�4C�:��/	4������ ก��:����
��4>��ก�> .
�


����
���/	4������ ก��:�������� ��������*+�ก� /��*�-ก=���	
ก��	�ก����/	4������ �� ��

�/��//�������C:3
�� 
/� 2��3��/��
�1�ก��ก���B����; �� ก��ก���.
�B��

ก!� �-	:�7�
	+3

����ก;��.
�0� ��!��CC�:���/	4������ 0.�.2598 ก�����������������/	4���/��/�����C:3


ก��0�^���� 
/�2�/4ก-���/�7�/��
���;ก�� ����� �� ����������.
��� 
/� -����7� ก��

���������������/	4������
�1�:�
�
���	ก������*����������/	4/��� 

�	-�� ��ก����-���/����

�� ��/A�B�0 (����:� 
4/�	���, 2532) 
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2.2  ก��ก%� ��"�&�'�������
��
 

�� ก��ก��,���>�	6�/�
�. 
���
� .�
ก����-/����!�ก��.
�
����
���/	4������
��������� !�!� 	3�����������/	4 78 MHz ���
 245 MHz �� �� ก���> ก���ก��ก��ก��
�/���������3�!�:� �3�-��	��:�;��/��
/����.
�
����
��/������� �� 
4�ก�>6
����
���/	4
��������������� !�!�	3�����������/	4 245 MHz 0.�. 2553 

2.2.1  .
�.3�	 ��:�;��/��
/������7 � �4��ก�> /��
/����.�7�:���.
�
����
���/	4������
��������� !�!� 	3�����������/	4 245 MHz /��2!�ก���
-+
�:������� (FM) �� ��!3���3��� ��3��
!3
���CC�> (channel spacing) 12.5 kHz ���
 25.0 kHz 

2.2.2  .�
ก����-/���,� ���������:��
����
���/	4������ 	3�����������/	4 245 MHz ���-� 
����ก�������������� (necessary bandwidth) !3���3��� ��3��!3
���CC�> 12.5 kHz ,�3
ก�� 11 
kHz ก����� �� �3���CC�> 2!����������/	4
-�	�ก��2�ก������� �3���CC�>
/3���7� !3
��������
��/	4/��
�4C�:2��2!����,�3
ก�� 80 !3
� (MHz) -����7 

 
:����/�� 2.1  !3
����������/	4��������� !�!�	3�����������/	4 245 MHz /��
�4C�:2��2!���� 
                                                                                                                                (��3�	:  MHz) 

245.0000  245.0125  245.0250  245.0375  245.0500  245.0625  245.0750  245.0875 
245.1000 245.1125 245.1250 245.1375 245.1500 245.1625 245.1750 245.1875 
245.2000 245.2125 245.2250 245.2375 245.2500 245.2625 245.2750 245.2875 
245.3000 245.3125 245.3250 245.3375 245.3500 245.3625 245.3750 245.3875 
245.4000 245.4125 245.4250 245.4375 245.4500 245.4625 245.4750 245.4875 
245.5000 245.5125 245.5250 245.5375 245.5500 245.5625 245.5750 245.5875 
245.6000 245.6125 245.6250 245.6375 245.6500 245.6625 245.6750 245.6875 
245.7000 245.7125 245.7250 245.7375 245.7500 245.7625 245.7750 245.7875 
245.8000 245.8125 245.8250 245.8375 245.8500 245.8625 245.8750 245.8875 
245.9000 245.9125 245.9250 245.9375 245.9500 245.9625 245.9750 245.9875 

 
/����:  ��:�;��/��
/����.
�
����
���/	4��������������� !�!� (	3��������� 245 MHz), 

  0.�.2553 
 
 

DPU
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2.2.3  .�
ก����-B��
����
��3� (Transmitter) 
2.2.3.1 ก����������0��6/��ก����- (rated carrier power)  
ก����������0��6/��ก����-���	��� ก����������0��6 (carrier power) .
�
����
�:��/��*+�*��:

�� ก�����
����2�

ก�����ก�> /��
/����.
�
����
���/	4������ �-	ก����������0��6 
���	��� ก�����
t���	 (average power) /���3�,�	����	
�ก��
/�	� (artificial antenna) 2�.> /��,�3��
ก���
-+
�: 5����3�ก����������0��6/����-,-���กก��/-�
�� :�
����3�,�3
ก�� ± 1.5 dB .
��3�ก�����
�����0��6/��ก����- .�-���ก�- ก����������0��6/��ก����- (rated carrier power) /��
�4C�:2��2!����
� :�
����3�,�3
ก�� 10 ��::6 

2.2.3.2 ก���0�3���ก��
� (conducted spurious emissions)  
ก���0�3���ก��
� ���	��� ก���0�3/��.�7�:3
��	
�ก��/�����������/	42-@ /��
	+3

�
ก
���
����������/�����
�1� (necessary bandwidth) 5����������-��,-��-	,�3,-�/��2��         
ก�����
���,-����*�ก� /� ก���0�3���ก��
���7������ก���0�3���6�
��ก (harmonic emission)  
ก���0�30���5�:�ก (parasitic emission) *���กก���
-+
�:� ��3��ก�� (intermodulation product) 
�� *���กก������������� (frequency conversion product) �:3,�3������ก���0�3�
ก��� (out-
of-bandemission) .�-���ก�- ก�����.
�ก���0�3���ก��
�2�!3�����������/	4:�7��:3 9 kHz ��� 3 
GHz :�
�:���ก�3��3�ก����������0��62�.> /��,�3��ก���
-+
�:
	3����
	/���4- 43 + 10 log P (dB) 
���
 70 dBc �����:3�3��3�2-� ��
	ก�3� �-	 P ��
�3�ก����������0��6 (mean power) ����3�	
�1���::6 
(W) 

2.2.3.3 �3�*�-0��-/��������� (frequency error)  
�3�*�-0��-/��������� ���	��� �3��:ก:3��� ��3��������������0��62�.> /��,�3��ก��

�
-+
�: ก���������/��� �4 (nominal frequency) .
�B��
����
��3� .�-���ก�- �3�*�-0��-/���������
� :�
�,�3
ก���3�2�:����:3
,���7 
 
:����/�� 2.2  :������-��3�*�-0��-/���������� :�
�,�3
ก���3�/��ก����- 
 

!3���3��� ��3��!3
���CC�> (kHz) �3�*�-0��-/��������� (kHz) 

12.5 ± 1.50 
25 ± 2.00 

 

/����:  ��:�;��/��
/����.
�
����
���/	4��������������� !�!� (�3�*�-0��-/���������),  
          0.�. 2553 

DPU
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2.2.3.4 �3�
���	�
��/��������� (frequency deviation)  
�3�
���	�
��/��������� ���	��� �3��:ก:3��/����ก/���4-� ��3���������.> 2-.> �����

(instantaneous frequency) 
���
��ก���
-+
�: ก��������������0��62�.> /��,�3��ก���
-+
�: 
.�-���ก�- �3�
���	�
��/���������� :�
�,�3
ก���3�2�:����:3
,���7 

 
:����/�� 2.3  :������-��3�
���	�
��/���������� :�
�,�3
ก���3�/��ก����- 
 

!3���3��� ��3��!3
���CC�> (kHz) �3�
���	�
��/��������� (kHz) 

       12.5 ± 2.5 
        25 ± 5 

 
/����:  ��:�;��/��
/����.
�
����
���/	4��������������� !�!� (�3�
���	�
��/���������),    
         0.�. 2553 
 

2.2.3.5 ก�����!3
��� !�- (adjacent channel power)  
ก�����!3
��� !�- ���	��� �3�������.
�ก�����/�7���- (total output power) .
�B��


����
��3�/����ก���
-+
�::��/��ก����- 5���:ก
	+32����*3�� (passband) /�����4-ก���ก���
	+3/���������
/��� �4 (nominal frequency) .
�!3
��� !�-!3
�2-!3
������ �3�ก�����!3
��� !�-
�1�*����.
�
ก�����
t���	/��
ก�-��กก���
-+
�: 
��	������ ��CC�>��ก�� (hum and noise) .
�
����
��3�
.�-���ก�- ก�����!3
��� !�-� :�
����3�:��:����-��:3
,���7 

 
:����/�� 2.4  :����ก�����!3
��� !�-� :�
����3�/��ก����- 
 

!3���3��� ��3��!3
���CC�> (kHz) ก�����!3
��� !�- 

12.5 :���ก�3��3�ก����������0��6,�3��
	ก�3� 60 dB 

25 :���ก�3��3�ก����������0��6,�3��
	ก�3� 70 dB 

 
/����:  ��:�;��/��
/����.
�
����
���/	4��������������� !�!� (ก�����!3
��� !�-),  

  0.�. 2553 

DPU
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2.2.4  .�
ก����-B��
����
���� (Receiver) 
2.2.4.1 ����,�
���
�� (reference sensitivity)  
����,�
���
�� ���	��� � -����CC�>�\
�
.�� (input) :����4-.
�B��
����
����/��

�������/��� �4 5���
���
��ก���
-+
�::��/��ก����-� /��2��
ก�-�3� SINAD (Signal-to-noise and 
distortion ratio) ��:�;��/����CC�>.�

ก (output) .
�B��
����
���� .�-���ก�- ��CC�>�\
�
.��
� :�
����3�,�3
ก�� 0.50 ,�������:6 (μV) /�� 12 dB SINAD 

2.2.4.2 ก��
��
ก��CC�>!3
��� !�- (adjacent channel selectivity)  
ก��
��
ก��CC�>!3
��� !�- ���	��� ����������.
�B��
����
����2�ก�����

��CC�>/����ก���
-+
�::��:�
�ก��/���������/��� �4 2�.> /������CC�>/����ก���
-+
�:5���
�1�
��CC�>,�30���� ���6��ก!3
���CC�>�� !�- .�-���ก�- *�:3��� -����CC�>!3
��� !�-ก��!3
�
/��� �4� :�
�,�3:���ก�3� 50 dB 

2.2.5  .�
ก����--���������
-B�	 
2.2.5.1 ������
-B�	/��,ss\� (Electrical Safety Requirements)  
������
-B�	/��,ss\�.
�
����
���/	4��������������� !�!� 	3�����������/	4 78 

MHz ���
 245 MHz 2��
�1�,�:��/��ก����-,��2���:�;��2-��:�;�������-��:3
,���7 
IEC 60950 - 1            :    Information Technology Equipment � Safety � Part 1:   
                                      General Requirements 
�
ก. 1561 � 2548      :    ���B�>?6
/�����	������
/� 
t0� -���������
-B�	 

2.2.5.2 .�
ก����-/���,� 
������
-B�	
ก��	�ก��ก��2!�
����
���/	4������:3
�4.B�0.
���4�	6 (Radiation 

Exposure Requirements) ก��:�-:�7��������/	4������ �� ก��2!����
����
���/	4�������������
�� !�!� 	3�����������/	4 245 MHz � :�
��
-���
�ก��.�
ก����-.
���:�;��������
-B�	
:3
�4.B�0.
���4�	6��กก��2!�
����
���/	4������ ���/�7����ก
ก>?6�� ��:�ก��ก��ก��-+��
������
-B�	:3
�4.B�0.
���4�	6��กก��2!�
����
���/	4������ /���> ก���ก��ก��ก��
�/���������3�!�:��� ก��ก����- (��:�;��/��
/����.
�
����
���/	4�������������
�� !�!� 	3�����������/	4 78 MHz ���
 245 MHz, 2553 : 1-3) 
 
 
 
 

DPU



20 

2.3  ก��&�	�)��ก��*+�
�!��
	�"#��   
ก��:����
��� 
r\�sD�ก��2!���������������/	4
�1����!3�	������4�2��.�
�+�/��

���
�1��������ก�����������������/	4�-	���/�7���- ,�3�3�� 
�1�2���3.
�0�����
:
�6/��
/����
.
�ก���0�3 �����>ก��2!����������/	4.
�!3
���CC�>���
.
�	3��������� ก���ก�,.�DC��ก��
��ก�� ก��0��+��6/����������/	4������/��,�3,-����
�4C�: �� ก��
r\�sD����������/	4�������
ก������
�:4t4ก
t�����
����
�:4
���� 5���.�
�+�/��,-���กก��ก���
��3���7 � 
�1�.�
�+�/�������C2�
ก��0����>�-��
���ก��.
��3�����
���/��
ก��	�.�
� ��3�	���/��������/��:����
�ก��2!������
���������/	4�:3
-��!��
 �+�	6:����
�ก��2!����������/	4��  �����:����
�ก��2!�ก��2!��������
��/	4 ��/�7���- 14 ��3� :3
���p 0.�. 2548 
����	���
�1� �����ก����> ก���ก��ก��ก��
�/���������3�!�:� 
.: 1 - 14 �� ���	�p 0.�. 2553 ,-�
����	���
�1� �����ก����> ก���ก��
ก��ก��ก� ��	
��	� ก��ก���/�/���6 �� ก��ก���/���������3�!�:� 
.: 1 � 14 (�����ก��� 
ก�/!. 
.: 1 � 14) ��0�7�/��������- /�����*�-!
�.
��:3� 
.: -����7 
 
:����/�� 2.5  0�7�/��������-/��
	+32��������*�-!
�.
� �����ก��� ก�/!. 
.: 1 � 14 
 

�����ก��� ก�/!. (
.:) 0�7�/�����*�-!
� (������-) 

.: 1 ��/�4�� ก�4�
/0������| ก�C���4�� t 
!��
/�� !�	��/ ��/�4�� 

����;� �����	ก �/4�A��� �������4�� 0� ������
	4A	� 

0!��4�� ��!�4�� �0�4�� �� �4�� ��4/����ก�� ��4/����� 
��4/������� �40��>�4�� ����6�4�� 
3��/
� 


.: 2 
4����!A��� 
4����!A��� ���� 
ก� �4���/�6 ��
	

E- �4ก-���� 	��A� 

�����
���C 


.: 3 ������ ������ 
!�	���	 0 
	� �3�� �0�3 
4:�-�:�6 


.: 4 ��.�� ��.�� :��� 0�/�4� �:+� �D::��� 	 �� ���A����  

.: 5 ���/�4�� ���/�4�� � 	
� !��4�� �� �ก�� :��- 

.: 6 .
��ก3� .
��ก3� ��
�������B+ 
�	   ���������� ก�����A46 

.: 7 �����!���� �����!���� �4�����	6 !�	B+�� 

.: 8 
4-�A��� 
4-�A��� ��
���	 �ก���� ���0�� 

.: 9 
!�	�2��3 
!�	�2��3 ��3�3
��
� ���0+� 

DPU



21 

:����/�� 2.5  (:3
) 
 

�����ก��� ก�/!. (
.:) 0�7�/�����*�-!
� (������-) 

.: 10 0��>4��ก 0��>4��ก �4�./�	 0���:� 
0!��+�>6 ��������6 
4/�	A��� :�ก 

ก���0�
0!� 

.: 11 B+
กE: B+
กE: 0���� ก� ��� 

.: 12 ������A�����! ������A�����! �4���=�6A��� 

.: 13 � �
� � �
� 

.: 14 !4�0� !4�0� �� �������.��A6 

 
�����ก��� ก�/!. 
.: 1 � 14 ��3� ������/��:����
��� 
r\�sD���/	4 (Spectrum 

Monitoring ���
 Radio Monitoring) ��
ก��-�ก����������/	4
0��
:����
��� 	��	����ก�> /��

/����.
��������/	4���������/�7��������/	4ก� ��	
��	��� ��/	4-�/�/���6 
0��
2��ก��2!�
�������/	4
�1�,�
	3���+ก:�
� ��� 
��	� ������กก����ก��� -���4���� (harmful interference) 
�� 
ก�-�� ��/A�B�0�+��4- 

2.3.1  ��:�4�� ���6.
�ก��:����
��� 
r\�sD���/	4 

��:�4�� ���6/�������C.
�ก��:����
��� 
r\�sD���/	40
� ก�3��,-� -����7  
2.3.1.1 
0��
�\
�ก���� �ก�,.�DC��ก����ก��/�� 
ก�-��ก�������3 
��Eก,ss\� 

(�������/	4) /�7�/��
ก�-.�7�2�� -��/�
����� � -��B+��B�� ���
� -���� 
/� 
0��
/��ก��2!����������/	4
.
��������/	4������� 
�1�,�
	3��
�1�� 
��	� 
.��ก��,-� 5���� /��2���-/��0	�ก�/�����
�1�
�������ก��:�-:�7��� 2!����
4�ก�>62�ก��ก����/	4������:3��@ 
�ก/�7�	��!3�	
0����� �	!�62���3

���;���:�62���ก3���������0�7�;��.
��� 
/� 2���3.
�ก��
.������� 2!����ก���/�������
,-��-	������กก����ก�� 

2.3.1.2  
0��
2����32��3���A��>!�������/��� ���sD���	ก����/	4ก� ��	
��	� �� 
���!���	ก����/	4�/�/���6,-��-	��� -��ก����ก��
	+32�.
�
.:/��	
����,-� 

2.3.1.3  
0��
:����
��� 	��	��.�
�+�/�������C:3
ก� ���ก�����������������/	4
�-	��� ,�3�3�� 2���3.
�.�
�+�/��-���
/���� �� .�
�+�/��ก=� 
��	� 
�1�:���3� .�
�+�
�����>ก��2!����������/	42�!3
���CC�>���
!3���������/��� �4 0�����
:
�6/��
/������ .�
�+�
ก��2!����.
��������/	4������ ก��:���������� 0��+��6/������3�ก��
��-ก���0�3/��,�3,-����

�4C�:
	3���+ก:�
� ���/�7�ก��
กE��� ���/�ก.�
�+�-��ก�3�� 
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2.3.1.4  
0��

กE�������.�
�+�ก��:����
��� 
r\�sD���/	4
��� 
ก�-�� �	!�6:3
 
ก��:����
��� 
r\�sD���/	42�ก��ก���� ��3���� 
/� ,�3�3�� 
�1�ก���ก�,.�DC��ก����ก��
� -���4���� ก��.��-ก���0�3,�30���� ���6 ���
ก����������������/	4 /��
��� ��ก��ก��2!����
.
��� 
/����!�ก 5���ก� /���-	�����ก�����/	4������ (Radiocommunication Bureau  BR) 
.
���B�0�/�������� ��3���� 
/� 

2.3.2  ���/���f���:��������ก��:����
��� 
r\�sD���/	4 
��B�0�/�������� ��3���� 
/� ,-�
��
�� ���/�����
�1��������ก��:����
�

�� 
r\�sD���/	4,���3����� �� ก
�-��	���-��:3
,���7 
2.3.2.1  ���:����
��� 
r\�sD�ก��2!����������/	4������ก��-��
-+
�:��CC�>
0��


!3�	2�ก��������� � �4���3�ก��
��-.
�ก����ก��� -���4���� :����
��� 	��	������
�+ก:�
�.
�ก��2!���CC�>��-�:� (identification signal) .
��������/	4������ ������� � �4
�������/	4���������

����
���/	4������/��,�3,-����
�4C�: 

2.3.2.2  ���ก����-��ก�> �� 0�����
:
�6/��
/����.
���CC�> 5���
��,�3
�1�,�
:��ก= .�
������ ���
��:�;��B�	2��� 
/� ���
� ��3���� 
/� 5����� ก
�-��	 ก����/�� 
ก����:�����3�/��:�7� ���
ก����
�\����	 �-	����:�4�� ���6
0��
��������3�ก��
��-.
�ก��
��ก��� -���4���� ���
0��+��6/����������/	4���������

����
���/	4������/��,�3,-����

�4C�: ���
/��2!����������/	4�-	,�3�+ก:�
�:��ก= .�
������ ���
��:�;��/��ก����- -����7 
 1)  ก����-������� 
/�	�ก���3����-
����
�.
��������/��	
����,-� 
 2)  ก����-�3�����ก����������������
���
� 
/�	�ก���3�����ก�������
���������-��� 
 3)  ก����-�3�ก���0�3,�30���� ���6 
/�	�ก���3�ก���0�3���ก��
����
    
ก���0�3�
ก����������/��ก����- 
 4)  ก����-�3�
���	�
���������.
�ก���0�3/��2!�ก���
-+
�:
!��������� 
/�	�ก��
�3�
���	�
���������/��ก����- 
 5)  ก����-� -�������0��6	3
	 
/�	�ก���3�/��ก����- 
 6)  ก����-�3���������������
���������3�s��ก56ก����� 
0��

�1�.�
�+�
�� ก
�ก����ก���4>����:�ก���0�3ก� ��	����� ���
ก����-������������/	4 ก�������>

�:���3��� ��3����CC�>�����0��6:3
��CC�>��ก�� 
���
�,.ก��2!����������/	4�3��ก�� �� ก��
��
��� �6��
�:4ก����ก�� 
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 7) ก����-�����>ก��2!�������������� ���/�7�ก��2!����/�����
�
-
�6
.
�-��
/�	� 
0��
:����
��� 	��	��ก��2!�������������/	4 ���

0��
�� ก
�ก��0����>�
����*��� ��-������������/	4 
 8) ก��� �4�� 
B/.
�ก���0�3 
0��
	��	���4>����:�/��
ก��	�.�
�ก��ก���
-+
�: 
 9) ก����-� -����CC�>��ก����-��
� (ambient noise) 
0��
!3�	2�ก������*�
�� ��-������������/	4����������ก��ก��
!3� ก��ก����/	4ก� ��	
��	��� ��/	4�/�/���6 2�� 	 	�� 
 10)  ก����-0�����
:
�6
t0� /��
/�������
	3��.
�ก��ก����/	4���������
�� 
B/ 
!3� 2�ก��ก����/	4�/�/���6 ���
ก��ก�����
���*3��-��
/�	� 

2.3.2.3 ���ก��
.���3��2�ก��ก���ก��:����
��� 
r\�sD���/	4� ��3���� 
/� :��/��
ก����-,��2�.�
��������/	4 
0��
.��-�DC��ก����ก�� �-	
t0� ก����ก��/��
ก�-.�7�ก���������
��/	4/��2!��������������
-B�	�� ก������
�:4
���� �� 
0��

:��	�.�
�+�/�����
�1��� 
ก��	�.�
�
�������ก���� !4�2�C3� -����ก�3�-��	��/	4������ 

2.3.2.4 ���ก����-/����	�����4�*�ก��:����
��� 
r\�sD���/	4 
0��
2��
�������/��/��

ก��	�.�
�ก��ก������*��� ��-������������/	42!��� ก
�ก��ก����-0�����
:
�6/��
/����:3��@ 
2��
�1���:�;��
-�	�ก�� 
0��
2��ก��2!����������/	4
�1�,�
	3������ ��/A�B�0�+��4- 

2.3.2.5 ���ก����-�3�ก���*30������ 
0��
:����
��� 	��	������
�1�,�:��
��:�;��/��
/����/��ก����-,��2�ก��0����>�����
�:��
	3��
4�ก�>6/���*30�����������
��3
��Eก,ss\�

ก�� 
!3� 
:�
�,����
�s ���

4�ก�>6/��-���
4:���ก��� ��/	����:�6 �� 
ก���0/	6 (industrial, scientific and medical equipment) 
���@ 

2.3.2.6 ���ก��:����
��������/	4�������� 
����
���/	4������
0��
	��	������
�+ก:�
�/��-���
/���� -���ก��2!���� �� -���ก=� 
��	�/��
ก��	�.�
� 

2.3.2.7 ���ก��2������� ������
.�

��
 5����� ก
�-��	.�7�:
��� ��A�-��
���ก��/��
���������,�2!�,-����� 
0��
.��-�DC��ก����ก��/��
ก�-.�7� 

ก��:����
��� 
r\�sD���/	4
�1�B��ก�����ก/�������C��กB��ก�������2�ก� ���ก��
���������������/	4 �-	� 2��ก��������4�.�
�+��� ก
�ก������*��� ก����-������������/	4
:��/��,-���
�.
 5���.�
�+�/��,-���ก*�ก��:����
��� 
r\�sD���/	4��7 ���������,��� ก
�ก��
0����>��3� .�
�+�-��ก�3��
�1�,�:����:�;��/��-���
/������ก��
	
0�	�2- 2�.> 
-�	�ก�� 
ก� ���ก�����������������/	4/��2!�� ��
���
.3�	�
�0��
:
�6กE� !3�	������4�.�
�+�ก��
��-������������/	4 �� .�
�+��������/	4������/��������� �+ก:�
��� ���+�>6  
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2.3.3  ก��:����
��� 
r\�sD���/	42��� 
/� 
�-	/���,����� �� 
/�:3��@ � ��
�\����	.
�ก��:����
��� 
r\�sD���/	4/���:ก:3��

ก��,� .�7�
	+3ก���B�0/��B+�����:�6 ก��
��
� �� 
���;���:�6.
��� 
/���7�@ �3�� �43�
���/��
ก��ก���2- �� ��.
�
.:.
�ก��:����
��� 
r\�sD���/	4��
���4���ก��
	
0�	�2- 
	3��,�กE
:�� �4-�43����	.
�ก��:����
��� 
r\�sD���/	42��� 
/� ��������3�

ก
�1��
��3��    
2�C3@ -����7 

2.3.3.1 
0��
:����
��3�ก��2!����������/	4
�1�,�:�����
�
-���
�ก�����/��ก��
���������������/	4.
��� 
/� 
���
�����ก��
�:4/���3� ก��2!����������/	4�-	,�3,-����
�4C�:���

2!��-	����ก�> ,�3:��:��/��ก����- � ก3
2��
ก�-ก����ก���� � /��2��
ก�-ก���+C
��	/��-���

���;���:�62���3.
���	,-�/���+C
��	,� ���2���ก�> ��7� �� ก
�-��	 

 1)  ก��:����
��� 	��	��0�����
:
�6/��
/������ 0�����
:
�6ก��2!���� 
5����-	/���,� � �43�
���ก����-�
�ก:���.
�ก���0�3���
ก���*30������.
�
����
��3���/	4
������ ���
ก����-�0/
/��6�ก��ก� ��	�����.
���	
�ก�� 

 2)  ก���ก�,.�DC��ก����ก��/��
ก�-.�7�ก���������/	4������/��,-����
�4C�:
�-	�+ก:�
� 5������0��A6ก��ก��������� 0��+��6/����������/	4������/��,�3,-����
�4C�: �-	2!�

/����ก����/�� ก��2!�	��0��� �������ก��:����
��� 
r\�sD���/	4
����
�/�� �� .�
����/��
���sD�,-���กก��2!�!3
���CC�>��7�@ 

2.3.3.2 
0��
!3�	2�ก����-/���� ������4���	��	ก�����������������/	4 2��+�.
�
.�
�+�/��
�1������� 
!��
��
,-� 5���������� ���,�0����>�-��
���ก��,-����	/�� 
�1�:���3� 

 1)  .�
�+�ก��2!�������������/	4 � !3�	2�ก����-������������/	4 ,�3�3�� 
�1�
2��� 
-E�.
�ก��:����
������>ก��2!����������/	4
0��
��-������������/	4
0���
:�� 
0��
��-���
���������/	42��3 ���

0��
:����
�ก��2!����������/	4�-	,�3,-����
�4C�: /�7���7 � 2!��������
ก��ก��
����
�/��/���ก
�1��3��2�C3 

 2)  .�
�+�5���� !3�	2�ก����-/���������
�ก���0�3ก� ��	����� (propagation 
model) �� ก���ก�,.�DC��ก����ก��2�� 	 	�� 

 3)  .�
�+�5���� !3�	2�ก���ก�,.�DC��ก����
�
��	��� �
���� 
 4)  .�
�+��� ก
�ก��0����>�ก����-2��2!����������/	4�3��ก�� 
 5)  ก��:����
��� 	��	�������+ก:�
����+�>6.
�� ��;��.�
�+��������

ก�����������������/	4 ������ก��������4��� ��/A�B�0.
�� ��;��.�
�+�-��ก�3�� 
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2.3.4  ก�������ก�� 
B/���:����
��� 
r\�sD���/	4 
�����ก:����
�ก��2!����������/	4,-������ก�� 
B/��� 
0��
����� -�ก2�ก��

�f���:���� �� ก��
กE����:�*�����������ก���� 
���*�,�� -����7  
2.3.4.1 ���:����
��� 
r\�sD�
0��
����	� 

�	-
ก��	�ก��ก��2!����������/	4 
ก��:����
��� ���/�ก.�
�+���	� 

�	-
ก��	�ก��ก��2!����������/	4:�
-	3���������

/��������:����
�,-� (10 kHz � 1 GHz) 5���.�
�+�/��,-�� ���,�2!��� �	!�62�ก���������������
��/	4�-	�3�����/��
ก��	�.�
� 
�ก/�7�	��
�1�ก��:����
��� 	��	��ก��2!�������������/	4/��,-����
ก����-���,����� 

 1)  ก��:����
�:������ก��/��ก����-2�� 
�1�ก��:����
�	3�����������/	4
/����ก��2!�������� �-	� :�
�0��+��6/���!��
��3�	���*+�2!� ��CC�>
��	ก.�� ������� �� 
B/
.
�ก���0�3 �� !3��
���ก��2!���� 
�1�:�� 

 2)  ก��:����
��������/���+ก��-���,����� �3��+ก:�
�:��/��
�4C�:���
,�3 
�-	:����
�����	� 

�	-
ก��	�ก��������������3� .�
����:�-:3
 ก��2!���CC�>
��	ก.��  
/�7���7 ��ก2!�ก��.3�	��/	4������.
�

ก!� ���
.3�	��/	4������.
�
��
�� �� 

 3)  ก��:����
��������
0��
��-��� 
�1�ก��:����
�!3
���CC�>�3�� 
0��

��-���2��ก��*+�.
2!����������/	4��	2��3 ���
�����:������>ก��2!��� !3��
���ก��2!����������/	4
.
�*+�2!���	
-�� 
0��
2��*+�.
2!����������/	4��	2��32!����������/	4�3�� ,�3�3�� 2!�2���3.
�ก��2!�
���������/	457�� (frequency reuse) ���
ก��2!����������/	4
-�	�ก���:3:3��
��� (time sharing) 

2.3.4.2 ���:����
�
0��
����4���:�;��/��
/���� 
�1�ก��:����
�
0��
�\
�ก��
ก��
ก�-ก����ก��� ��3���������/	4������/��2!����
	+3 5���
��
ก�-.�7���ก.�
�ก0�3
�/��

/�������

ก�-��ก��
�:4
��� 
�1�ก��:����
�
0��
����4�0�����
:
�6/��
/����.
��������/	4
���������

����
���/	4������2��
�1�,�:��/��,-����
�4C�:,�� ,-��ก3 ก����-������� ก����-
����ก�������������� ก����-����������� ก����-
�
�6
5E�:6.
�ก���
-+
�: ก����-ก���0�3,�3
0���� ���6 
�1�:�� 

2.3.4.3 ���:����
�ก��2!����������/	4/��,�3,-����
�4C�:���
/��:�
�����	 
�1�ก��
:����
�
0��
.��-�������/	4������/��:�7�.�7��-	,�3,-����
�4C�: 
0��
2��
�1�,�:���/��CC�:�
.
�ก=���	� ��3���� 
/� (.�
��������/	4.
���B�0�/�������� ��3���� 
/�) �� 
ก=���	B�	2��� 
/� (0� ��!��CC�:���/	4������ 0.�. 2498 �� /���ก�,.
0���
:��) ก��
:����
�2���ก�> ��7 � 
�1�ก��:����
��� 
r\�sD�
0��
����	� 

�	- ���
ก��

ก��/�����

:�����3�/��:�7� 
0��
0��+��6/�������/��:�7�.
��������/	4������/��,�3,-����
�4C�: 
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2.3.4.4 ���:����
�
0��
�ก�,.�DC��ก����ก�� 
�1�ก��:����
�
0��
����
�:4.
�
ก����ก��/��
ก�-.�7�2�ก��:�-:3
���
���/����/	4������ /�7�2�ก�>�/��:����
�0�

� �� /��
,-����������ก*+�2!����������/	4/���+ก��ก�� ก����ก����7���ก� 
ก�-��ก�����ก0�3
�.
�
����
�
��/	4�/������� ���

��� 
ก�-��ก
����
���
�� 
4�ก�>6/��,ss\��� 
�
�Eก/�
��ก�6 (
!3� ก��


�5��
�:.
����
����,ss\�) ���

4�ก�>6/��-���
4:���ก��� ��/	����:�6 �� ก���0/	6 
(
!3� 
����
�
�-0���:�ก 
����
��D������) กE,-� /�7���7 
�������/��� :�
���
��� �6�� :����
�
0��

�������
�:4.
�ก����ก��2��,-� 
0��

��
�� ���/���� ��A�ก���ก�,.�DC��ก����ก��2��
*+�
ก��	�.�
����,��f���:�:3
,� 

2.3.4.5 ���:����
��� 
r\�sD���/	4:��/����3�	���.
�:3���� 
/���
�.
 
�1�ก��
:����
�
���
��3�	���.
�:3���� 
/���
�.
��
�1����7����� �3��2�C3� 
�1����������/	4	3�� 
HF 
!3� ก��.
2����	���*�ก�����sD���CC�>��/	4ก� ��	
��	��������7�.
�:3���� 
/� 
0��
���
*�ก�����sD�/��,-�,�������4�/��-���
/���� ก�������3�ก��
��-.
�ก����ก�� 
0��
��
��	� 

�	-
ก��	�ก��!��-.
���CC�>�� /��/��.
�ก����ก��/����*�:3
ก��2!����������/	4.
�
�� 
/�*+���
�.

�1�:�� 

2.3.4.6 ���:����
�-������sD�.3�����
.�
���� 
��� !3�	2�ก��������� 2������
!3�	
���

�ก��	�����

��
/���� ��B�	 :����������� � 	 
���/��ก����-,-� ���/�7�ก��
:����
�ก���f���:�:��ก=� 
��	�/��
ก��	�.�
�ก��ก��:�-:3
���
���
0��
������
-B�	�� ����
�:4

���� (distress and safety communications) 
!3� ก���3���CC�>.
����!3�	
���
/��,�3,-�
ก�-.�7�
���� (false alarm) ���
ก���3���CC�>
ก���������
�1� 

2.3.4.7 ���
���@ 5���
�1����/��
ก��	�.�
� ���0��A6 �� ������4����:����
� �� 
r\�
sD���/	4�-	/���,� ,-��ก3 

 1)  �������4���ก�� 
�1�ก������4���ก��
����
���
���

4�ก�>6��-:3��@ 
0��
2��
������/�����,-�
	3���+ก:�
� 
/��	�:�� �� ��
�	4ก��2!����	����� 
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�1��C��กE:�
�2���C��
���
�1�*+���� 5������,�3��
���
0��ก����C��กE:�
�.
2�����=�/��
�1��C������/� 

����.
�/�����,-� 
���0��ก�����
�����	�-,�����-����/���4-
0��
2!�
�1�0	�����ก;�� 
2.4.3  ก�������/����*�-:��0� ��!��CC�:���/	4������ 0.�. 2498 

ก��-��
���ก��.
�
���0��ก���*+�

ก2�
�4C�:���
*+�/��,-�����
����	2�ก�����ก4�
:�
�0����>��3�ก��ก� /��.
�*+�:�
�����	
	+32�
ก>?6ก��ก� /������*�-���
,�3 ;��2- ���
���
�1�:�
�0���>������/����*�-:��0� ��!��CC�:���/	4������ 0.�. 2498 -����7 

2.4.3.1 0����>�0�:�ก��>6���
ก��ก� /��.
�*+�:�
�����	�3����+�����*�-���
,�3 

	3��,� 

0���>���ก0�:�ก��>6���
ก��ก� /��ก��.�
ก=���	 ��3�

ก,-� -����7 
 1)  ����*�-/��,�3,-����
�4C�: ,-��ก3 ����*�-:����:�� 6 ��:�� 7 ��:�� 8 

��:�� 9 ��:�� 10 ��  ��:�� 11 ��������� ��3�0� ��!��CC�:���/	4������ 0.�. 2498 
 2)  ����*�-/��,-����
�4C�: ,-��ก3 ����*�-:����:�� 13 ��3�0� ��!��CC�:�

��/	4������ 0.�. 2498 
 3)  ����*�-
ก��	�ก��ก��ก� /��/��
�1�����*�- ,-��ก3 ����*�-:����:�� 11 

������� ��:�� 12 ��:�� 15 ��:�� 16 ��:�� 19 �� ��:�� 26 ��3�0� ��!��CC�:���/	4
������ 0.�. 2498 

2.4.3.2 0����>���ก�� ก�� � 
��	� /��
ก��	�.�
�-��	
��
 
0�:�ก��>6���
ก��ก� /��-��ก�3�� 
.��.�
	ก
��� ,�3������*�-���
,�3 (,-����	ก
���,�3

:�
�,-����2�
�4C�:���
,�3) 0����>���ก ��:�� 5 ��3�0� ��!��CC�:���/	4������ 0.�. 2498
�� ก���> ก���ก��ก��ก���/���������3�!�:� 
���
� 
����
���/	4�������� �������/	4
������/��,-����	ก
���,�3:�
�,-����2�
�4C�: �� ก�� > ���/�� 18 ก�ก=��� 0.�. 2550  

�+3��
ก���f���:�����/��ก��:���������ก4� *+�ก� /��*�-:��ก=���	�3�-��	��/	4������ 
(�����ก����> ก���ก��ก��ก���/���������3�!�:�, 2551) 

 
 
 
 
 
 

DPU



33 

2.5  �����	��������ก���	���� 
����:� 
4/�	��� (2532) 
���
� mก�����������������/	4ก��ก��0�^��
���;ก��.
�

�� 
/�n ก�����������������/	4
�1���A�ก����-������������/	45���
�1�/��0	�ก�A���!�:� ��
	+3

���ก�- 
0��
�����2!�ก��ก��ก��:3��@ 
	3����� �� ��ก=
ก>?6 2��
ก�-�� �	!�6�4���3���ก/���4- ก��

���������������/	4
�1�ก��ก���/��
ก��	�.�
�ก��ก������*����������/	4 ก����-������������/	4 ก��

:����
��� 
r\�sD����������/	4 ก��

ก2�
�4C�:��/	4������ ก��:����
��4>��ก�> .
�


����
���/	4������ ก��:�������� ��������*+�ก� /��*�-ก=���	
ก��	�ก����/	4������ �� ��

�/��//�������C:3
�� 
/� 2��3��/��
�1�ก��ก���B����; �� ก��ก���.
�B��

ก!� �-	:�7�
	+3

����ก;��.
�0� ��!��CC�:���/	4������ 0.�.2598 ก�����������������/	4���/��/�����C:3


ก��0�^���� 
/�2�/4ก-���/�7�/��
���;ก�� ����� �� ����������.
��� 
/�  


���;0��6  � ���4���> (2553) 
���
� m
��6ก���-��������������� (���/��ก��������

������������)n ก����������������������/	4 
�1�ก� ���ก����������-ก��/��0	�ก�������������

��/	4/�7�2�� -���� 
/��� � ��3���� 
/� ����ก�> /��
ก��	�.�
�ก��ก���� 	4ก:62!����:�62�

�+��������/	�ก�� (Interdisciplinary) /�7�-�������ก������:�6 ��;�� �������:�6 ��:����:�6 


���;���:�6 :�
-��-���
/�����	�:3��@ 
0��
�� ก���3�ก��ก����/	4�������� � ����/	4

������/�����
	3������ ��/A�B�0�-	������กก����ก��5���ก���� ก��2�� -���4���� �� 


0��
2��ก��2!����/��0	�ก��������/	4ก3
2��
ก�-�� �	!�6�+��4-/�7�2�� -���� 
/��� � ��3��

�� 
/� �-	��ก��ก���
ก��	�ก��ก��ก��ก��-+��ก��2!���������������/	4 ,-��ก3 ก��ก����-��	��	

ก��������������� ก����-/��:����ก����-������� ก����-/���*����������/	4 ก����-������������/	4 

ก��:����
���ก�> /����!�ก��
����
���/	4������� ����4���:�;��/��
/�����������/	4

������  ก��

ก2�
�4C�: ก���� ���������������/	4 ก��:����
�ก��2!����������/	4 �� 

ก��������2!�ก=���	  

����B C�>��+C (2552) ,-���ก��
���
� ก����ก���DC����������������ก�����������/	4

������ 	3����������+���ก (245 MHz) ��������� !�!� *�ก������	0��3� �DC��������������

��ก���������.
���/	4������	3����������+���ก (245 MHz) ��������� !�!� �� ก
�-��	

�DC��:3��@ -����7   
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1) ก��ก��ก��-+��ก��ก����/	4��������������� !�!�2��D��4���	��,�3
.����- ก��

0��+��6����*�-2��-�ก����ก��/��
ก�-��กก��ก� /��.
���4�	6/��,-�	�ก /��2��*+�ก� /��*�-,�3
ก��

ก���:3
ก=���	  

2) ก��2!�!3
��������

�
	3��
��� .
���ก��/	4��������������� !�!� �� ,�3


0�	�0
:3
ก��2!����/��2��
ก�-ก���	3�!3
�ก��2!�������/��2��
ก�-ก����ก��5���ก���� ก��   

3) ก��2!�
����
���/	4�������� 
4�ก�>6/��,�3,-���:�;��/��
/���� �� ,�3��


4�ก�>6/�����
�1���������������/	4��������������� !�!�
0��
�\
�ก��ก���0�3�������ก��  

4) ก��� 
�	ก=� 
��	� .�-�4>A����� ���	A��� .�-�����+��� �� ��ก��>6

/��-���
/���� �� ก��.�-�4 �̂B�� /��
���>6.
���ก��/	4��������������� !�!�  

5) ก��:�7��������/	4��������������� !�!�2����
�>/��,�3
��� ���������ก��:�7�

�������/	4������ 

����! ����!��B����> (2548) ก����������-ก�� (management administration) ก��

������ก��0�^�� (development administration) ���ก� /���ก��������ก�����ก�� (service 

administration) �:3� ������������	����	�������
2ก��
��	�ก��/��
�E�,-�!�-
����
	3����
	 3 �3�� 

��
 ����� ����
�1����/�����
��A�ก�����������B����;/����3�	���.
���; �� /���
 
�������/��

.
���; �����2!�2�ก���f���:���!ก��
0��
!3�	
0����� ��/A�B�02�ก����������!ก�� �
� ��

ก� ���ก��������/���� ก
�-��	 3 .�7�:
� ��
ก����- (thinking) ���
ก������*� (planning) 

ก��-��
������ (acting) �� ก���� 
���*� (evaluating) �� ��� ���4-���	���	/
� ��
ก��

0�^���� 
/�,�2�/��/��/��/��2���� !�!����4>B�0!���:/��-�.�7� ���/�7��� 
/�!�:�������


���Cก��������� ������
0���.�7� 

��0��6 
ก����� (2523) ก�3��,���3� ����3� ก����������	�2!�ก��ก����������!ก�� 

���
ก����-ก��
ก��	�ก����	��	 5�������0/6��CC�:��3� ��;�� �������:�6 (public administration) 

�� ����3� ก����-ก�� (management) ��	�2!�ก��ก��������A4�ก��

ก!� ���
ก��-��
���ก��:��

��	��	/��ก����-,�� ��0��6 
ก����� 	��2���������	ก��������,���3� ก������������ก�> 
-3�


�1���ก�
	+3���	�� ก�� -����7 
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1) ก��������	3
�����:�4�� ���6 

2) ก��������
���	�D���	�4���
�1�
��6�� ก
� 

3) ก��������:�
�2!�/��0	�ก�ก��������
�1�
��6�� ก
�0�7�;�� 

4) ก������������ก�> ก��-��
���ก��
�1�ก� ���ก�� 

5) ก��������
�1�ก��-��
���ก���3��ก��.
�ก�43��4��� 

6) ก��������
���	�����3����
�3��2�.
��4��� ก�3����
 �����3��2� (collective 

mind) � ก3
2��
ก�-�����3����
.
�ก�43� (group cooperation) 
��� ���,��+30���.
�ก�43� (group 

effort) /��� /��2������4��:�4�� ���6 

7) ก������������ก�> ก���3����
ก��-��
���ก��
	3����
�:4*� 

8) ก������������ก�> 
�1�ก��:����
�*�ก���f���:����ก����:�4�� ���6 

9) ก��������,�3��:��:� (intangible) :3
��
�/A�0�:3
����
�1�
	+3.
���4�	6 

 

 

DPU



 

 

 

����� 3 

��	��
���
�����
 
 

��ก�����	�
�ก���
�
� 	����� ก����ก��������ก����
�����ก����
������������� �
!����
���"#�#� (245 MHz)  � ����"	� ����"�
, ���	�
�ก�� ��� ก��	���ก-./	# ���#�0 ก��!�/��
	���������� ��#/��ก���
�
� ก��	ก1�������2/��.� ��"ก���
	���"�32/��.� 4��� ����"	� ��
�
�56�7�� 8 
 
3.1  ก��	���ก���	���
���� 

ก��6���"#�ก���"ก��6�5
���6��� ��#/��ก���
�
��"�#/�
, ก��	���ก���	9:�"	��"�� 
(Purposive Sampling) J�����"ก���/�� -./������ก�� -./��
��� ��"-./	# ���#�0� �� ��"!�ก��K3
��������6���/�� 10 �N !���7�/�
�5����� � 3.1 ��"�6���������	������ !���7�/�
�5����� � 3.2   
 
5����� � 3.1  ������ก��6�5
���6��-./	# ���#�0� ��#/��ก���
�
������ก5����6�����2��!���
ก���  

 ก!�#. 
 

���	���
���� �����ก��� ก��. ������� �� 

-./������ก��!���
ก -  !���
ก5���!��ก���#/����� ��
��� 1 
-./������ก��!���
ก !6��R.�
R�� -  !���
ก5���!��ก���#/����� ��
��� 2 
-./������ก��!6�� -  !���
ก5���!��ก���#/����� ��
��� 

-  !���
กก��ก
��.��ก
�ก��4�������� 
-  !���
กก�����0�5ก
�ก��	9:�"ก
� 

3 
1 
2 

�
���/�ก��6���� -  �.��35���!��ก���#/����� ��
��� 
-  !���
ก��
:��ก�4�������� 
-  !���
กก�����0�5ก
�ก��	9:�"ก
� 
-  !���
กก��ก
��.��ก
�ก��4�������� 

5 
1 
2 
2 

 ��!��"���"� 19 
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 5����� � 3.2  ������-./	# ���#�0��"�6���������	������ 
 

���������	���
���� 

(Panel Size) 

� ��ก���-��.��/��!/��-	/����� 

(Error - reduction) 

/��!/��-	/������-�� 

(Net 9 charge) 

1 - 5 1.20 U 0.70 0.50 
5 - 9 0.70 U 0.58 0.12 

9 - 13 0.58 U 0.54 0.04 
13 - 17 0.54 U 0.50 0.04 
17 U 21 0.50 U 0.48 0.02 
21 U 25 0.48 U 0.46 0.02 
25 - 29 0.46 U 0.44 0.02 

 
��ก5����� � 3.2  :��6� ������-./	# ���#�0��ก� 5
8��56 17 �6��2�8�7� �
5��ก������

2����������	������ (Error) �"� �/����ก��"�"	�
����� ���� 0.02 J��������/����
�
��6�	#������   
��ก2�8� 
 
3.2  	/�����!�����=��=�ก������
 >��ก��	ก?������!.��!�� 

	���������� ��#/��ก���
�
���"ก��	ก1�������2/��.���
8�� 8 ��"ก���/�����!�����
����	�Y���"���!����������
�	�1���5��!6����"��K�6� (Rating Scales) 5 �"�
�4��� 
2
8�5��ก��!�/�� ก��	ก1�������2/��.� ��"�
ก�K"2��	����������
�56�7�� 8 
 3.2.1  2
8�5��ก��!�/��	��������� ��"ก��	ก1�������2/��.� 

ก��!�/�����!�������"ก��	ก1�������2/��.���ก����ก��������ก����
�����
ก����
������������� �!����
���"#�#� (245 MHz) ��"ก���/��2
8�5�� �
�� 8 
 3.2.1.1  ���� � 1 ก��!�/�����!���������	�Y�	:����"�������
�	�1�2��-./	# ���#�0
	ก ���ก
� ���4�/�ก����
������������� �!����
���"#�#� (245 MHz) ��"ก���/��2
8�5�� �
�� 8 
  1)  ��ก��	�ก!��	กK]3��5�^��56��_ � �	ก ���2/��ก
��
����������6������� �
!����
���"#�#� (245 MHz) 	:�����ก��������ก����
�����ก����
������������� �!����
�
��"#�#� (245 MHz) J�����"ก��7��/�� �`0����"���!�����ก����
������������� �!����
�
��"#�#� (245 MHz) ���3��"ก��ก����
������������� � ��5�^�����	���
�2��	�������
���
������ ก��5���!��ก���#/���������� � ก���
��
��#/กa	กK]3��"กa���� 
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  2)  ���	��8���� ����ก���
	���"�3��ก!R�:�
��7�2��-./2��
������0�5 ���#/
	�b�2/��.�:�8�^��	:���!�/�����!���������	�Y� 
  3)  !�/�����!���������	�Y� R���5/ก����"���2��������3� ����ก�� ��"
-./	# ���#�0 J���� ������56�7�� 8 

     (1)   ��. ,�#
� ��K"!��.�K3  
           !�2��
#� �
��ก���4����������"	����26�����:
�	5��3 
                         ����
����
�,��ก
��
K]
5�3 

     (2)   ���#.�
��3  �
�
�"� ����K  
 -./������ก��!���
ก��� ก!�#. 	25 1 ������  
  (3)   �����:��3 #.5
�
c�3  
          -./������ก��!6���������-���"5
�5����"	�
�-�   
          !���
ก��� ก!�#. 
  (4)   ���,�
##
� 9
�#.�� 
          -./������ก��!6�����#6��������ก��   
            !���
ก��� ก!�#. 
  4)  ��
�������"�ก/72���!���������	�Y�5��2/�	!����"2��-./	# ���#�0 
   5)  5
�56�	� ��	#
0-./	# ���#�0	:���	�b�-./	# ���#�0��ก��5�����!����� 
������ 19 �6�� 
   6) 2���
�!��	� ��	#
0-./ 	# ���#�0 	:���2��������	���"�3��ก��5��
���!����� 	:���ก���
�
� ��ก����
K]
5��ก����"����K"�
��ก�����!5�3 ����
����
�,��ก
�
�
K]
5�3 
   7)  ������!���������	�Y�7���/-./	# ���#�0�
8� 19 �6�� 5����������"
�!�������
�	�1�	:
��	5
� :�/��ก������
�!6����!�����ก�
����R���� 2 !
����3 
   8)  	ก1����������!��������� � 1 �����ก-./	# ���#�0�/��5�	�� 
 3.2.1.2 ���� � 2 ก��!�/�����!����������
�	�1�	ก ���ก
�������ก����
�����ก��
��
������������� �!����
���"#�#� (245 MHz) ��"ก���/��2
8�5���
�� 8 
   1)  ������5��� �7�/��ก���!��������� � 1 ���
�ก��6���"5
�2/��.�� �J8��J/��
��ก7� ��"	:
��	5
���"4��������5�������
�	�1�	:
��	5
�2��-./	# ���#�0 ��"�����!�/��	�b�
���!����������"	�
��6� (Rating Scales) 5 �"�
� 	:�����/-./	# ���#�0�56�"�6��5�� 
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   2)  ������!������ �7�/��ก 2/� 1) 7���/-./	# ���#�0�
8� 19 �6�� 5�������� 
4��ก����/�8����
ก����!���
02�����������56�"2/� :�/��ก������
�!6����!�����ก�
����
R���� 1 !
����3 
  3)  	ก1����������!��������� � 2 �����ก-./	# ���#�0�/��5�	�� 
 3.2.1.3 ���� � 3 ก��!�/�����!�����	:�������������
�	�1�2��-./	# ���#�0� �7�/
��ก���� � 2 	ก ���ก
� ������ก����
�����ก����
������������� �!����
���"#�#� (245 MHz) 
��"ก���/��2
8�5�� �
�� 8 
   1)  ������5��7�/��ก���!��������� � 2 �56�"2/� ���
	���"�3	:������6�!�
5

7�/�ก6�6��
,�^�� (Median) �6�^���
�� (Mode) ��"�6�:
!
��"��6�����7��3 (Interquartile Range) 
   2)  !�/�����!��������6	�b����!��������� � 3 4��� 2/�����	� ��ก
�
ก
����!��������� � 2 �56	:
��5�����6�2���6��
,�^�� �6�:
!
��"��6����7��3��"	����������
�!��5�����6�� �-./	# ���#�0�
8�_ 7�/5�������!��������� � 2 ��7� 
   3)  ������!��������� � 3 7���/-./	# ���#�0�56�"�6��7�/��������5��
4������
����5��	�
� ����	�� ����������5�����6 J�����ก��5�����!��������� 8 -./	# ���#�0     
�56�"���"�����6�5�� �����
�	�1��5ก56������7�6�5ก56����ก�����
�	�1�2��ก��6�-./	# ���#�0
������_ ��ก7�6	�1��/����/�!��	�5�-���"ก��ก������
����5��	�
�� ���.6��ก:
!
����7��3�
8� 
�
8�� 8��ก��5�����!�������
8�� 8�"	�b����!���/�� ก������
�!6����!�����ก�
����R���� 
1 !
����3 
   4)  	ก1����������!��������� � 3 �����ก-./	# ���#�0�/��5�	�� ��"���
2/��.�� �7�/ �����ก��!�����"�R
����-�2��ก���
�
� 
 3.2.2   �
ก�K"2��	��������� 
 	���������� ��#/��ก��	ก1�������2/��.�  ��"ก���/��  ก��!����������� 3 ���    
4�� � �
ก�K"�
�� 8 
 3.2.2.1 ���� � 1 ก�������������
�	�1�	ก ���ก
� ������ก����
�����ก����
��������
����� �!����
���"#�#� (245 MHz) �
ก�K"	���������	�b����!���������	�Y� 
 3.2.2.2 ���� � 2 ก��!����������
�	�1� ������ก����
�����ก����
������������� �
!����
���"#�#� (245MHz) �
ก�K"2��	������������!�����	�b������"	�
��6� (Rating 
Scales) 5 �"�
� �
�� 8 ���  
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  5     �������     2/������
8�� ����	�b�7�7�/��ก� �!��   
  4     �������     2/������
8�� ����	�b�7�7�/��ก    
  3     �������     2/������
8�� ����	�b�7�7�/���ก���   
  2     �������     2/������
8�� ����	�b�7�7�/�/��    
  1     �������     2/������
8�� ����	�b�7�7�/�/��� �!�� 
 3.2.2.3 ���� �  3  ก��!�����	:�������������
�	�1�2��-��
:,3� � 7�/��ก
���!����������� � 2 	ก ���ก
� ������ก����
�����ก����
������������� �!����
���"#�#� 
(245 MHz) �
ก�K"2�����!����� 	�b������"	�
��6� 5 �"�
� �56	:
��5�����6�2���6��
,�
^�� ��":
!
��"��6�� ���7��3 2��-./5�����!����� 
 
3.3  ก����	/���@A.��!�� 

 -./�
�
����ก���
	���"�3���5��2�����!����� J���	�b������5��!6����"��K�6�   
4���#/ 4���ก�� Microsoft Office Excel 2007 	:������6����!�
5
 �
�56�7�� 8 
 3.3.1  �
,�^�� (Median : Mdn) 

�
,�^��  �������2/��.�� ���.65��ก���2��2/��.��
8����	����7�/	� ������
�2/��.�   
	��6�� 8��/� ��ก�������K�"�#/!.5��
�� 8��� 

]/))2/[(( 210 ffNiLMdn −+=                                               (3.1) 
 
              	����  Mdn  =  �
,�^�� 
  L0 =  2 ����ก
��6��� ���/��
�2���"�����#
8�� �� �
,�^��5ก��.6 

 f1  =   ����� �!"!���ก#
8��"���5���!������"���� �	�b�2 ����ก
���2���"��� 
             ��#
8�ก6��#
8�� �� �
,�^��5ก��.6 

  f2  =   ����� �2���"�����#
8�� ��
,�^��5ก��.6 
  N  =   ����������� ��
8���� 
  i    =   �
�5�R��#
8� 
 
 
 
 
 

DPU



41 

 ��ก���!����������5����"��K�6� 5 �"�
� J�����/�8����
ก �
�� 8 
 5     �������     2/������
8�� ����	�b�7�7�/��ก� �!�� 
 4     �������     2/������
8�� ����	�b�7�7�/��ก    
 3     �������     2/������
8�� ����	�b�7�7�/���ก���   
 2     �������     2/������
8�� ����	�b�7�7�/�/��    
 1     �������     2/������
8�� ����	�b�7�7�/�/��� �!��  
 �6��
,�^��� ������K7�/��ก���5��2��-./	# ���#�0�
8���� ��/������������              
5��	กK]3� �-./�
�
�ก�����  7�/�
�� 8 ��� 
 4.50  2�8�7�     -./	# ���#�0	�1��6�2/������
8�	�b�7�7�/��ก� �!�� 
 3.50 U 4.49      -./	# ���#�0	�1��6�2/������
8�	�b�7�7�/��ก 
 2.50 U 3.49      -./	# ���#�0	�1��6�2/������
8�	�b�7�7�/:�!���� 
 1.50 U 2.49      -./	# ���#�0	�1��6�2/������
8�	�b�7�7�/�/�� 
 5���ก�6� 1.50      -./	# ���#�0	�1��6�2/������
8�	�b�7�7�67�/	�� 

!����
�	กK]3�
,�^��� �� �6�5
8��56 3.50 2�8�7� -./�
�
�����6�2/������
8�	�b�������ก��
��
�����ก����
������������� �!����
���"#�#� (245MHz) 
 3.3.2  ^���
�� (Mode : Mo) 

       










∆+∆

∆
+=

21

1
0 iLMo                                                     (3.2) 

 

  	����  Mo  =  ^���
�� 
          Lo  =   2 ����ก
��6��� ���/��
�2���"�����#
8�� �� ^���
��5ก��.6 
     i   =   �
�5�R��#
8�  

1∆ =   f1-f0 

2∆ =   f1-f2 
  f0    =   ����� �2��#
8�� ����ก6��#
8�� �� ^���
����.6J���� 2/��.�5���ก�6� 
  f1    =   ����� �2��#
8�� �� ^���
����.6 
  f2    =   ����� �2��#
8�� ���.6�
���ก#
8�� �� ^���
����.6 1 #
8� J���� 2/��.�!.�ก�6� 
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	���������K���6��
,�^��2���56�"2/���������/�  -./�
�
�����6��
8�!������-�56��2��
�56�"2/����5��  	:���	�b�ก��!�
�!�������!����/��2������
�2��ก��6�-./	# ���#�04��-./�
�
�
7�/ก�����	กK]3��ก��:
���K�2/�������� �� �6�-�56��7�6	ก
� 1.00 �!���6� ����
�2��ก��6�
-./	# ���#�0 � ����!����/��ก
� 
 3.3.3  :
!
��"��6�����7��3 (Interquartile Range : IR) 
 :
!
��"��6�����7��3 ��� �6������5ก56���"��6�����7��3� � 3 ก
� ���7��3� � 1 2��
�56�"2/������� ����2/���������ก�������K�#/!.5��
�� 8 ��� 
 

)( 13 QQIR −=                                                                 (3.3) 
 

 ��"���6� Q1 ��" Q3 7�/��ก!.5� 
 

f

CF
N

iLQ
)

4
(

01

−
+=                                                      (3.4) 

 

f

CF
N

iLQ
)

4

3
(

03

−
+=                                                   (3.5) 

 
           	����    Q1  =  ���7��3� � 1 
   Q3  =  ���7��3� � 3 
  L0  =  2 ����ก
��6��� ���/��
�2���"�����#
8�� �� �
,�^��5ก��.6 
  N   =  ����������� ��
8���� 
  CF =  ����� �!"!�2��#
8�� ���.62/�����7��3�56	�b�#
8�� �� �"����/��ก�6� 
  f    =  ����� �2���"�����#
8�� �� �
,�^�� 
  i    =  �
�5�R��#
8� 
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 �6�:
!
����7��3�
8�-./�
�
�7�/�����K���6������5ก56���"��6�����7��3� � 3 ก
�      
���7��3 � � 1 �/�2/�������� �6�:
!
��"��6�����7��35
8��56 1.50 ���� -./�
�
�����6�ก��6�-./	# ���#�0 
� �����
�	�1�!����/��ก
� �
��6�2/������
8�	�b�������ก����
�����ก����
������������� �
!����
���"#�#� (245 MHz) ��"�/��6�:
!
� ���7��32��2/������
8�� �6���กก�6� 1.50 2�8�7� 
�!���6������
�	�1�2��-./	# ���#�0� �� 56�2/������
8� 7�6!����/��ก
� 
       3.3.4   �����5ก56���"��6���
,�^�� (Median)  ก
�^���
�� (Mode) 
 -./�
�
������K���6�^���
��2���56�"2/�����  ��/���������6������5ก56���"��6�� 
�
,�^��ก
�^���
��2���56�"2/����� 	:���	�b�ก��!�
�!�������!����/��2�������
�	�1�
2��ก��6�-./	# ���#�0 4��-./�
�
�ก�����	กK]3��ก��5
�!
�2/������ �� -�56�� �"��6���
,�^��ก
�     
^���
��7�6	ก
� 1.00 �!���6�-./	# ���#�0� �����
�	�1�!����/��ก
�	ก ���ก
�2/������
8�_ -./�
�
� 
���2/������ �ก��6�-./	# ���#�0�!�������
�	�1�!����/��ก
��� �/���
,�^�� ^���
�� ��":
!
�
�"��6�����7��3 ��!���	�b�������ก����
�����ก����
������������� �!����
���"#�#� (245 
MHz) 4��:
���K���ก�6��
,�^����ก� �!�� ��ก�
8�:
���K��6�:
!
��"��6�����7��3 ^���
�� 
��"ก��ก
�	:�������
�����!����/�������
�	�1�2��-./	# ���#�0 
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����� 4 

��ก
��
���
��������� 
 

�������	�
���
�ก������
 ��ก����ก��	����������
ก���������
ก�������� ��!�
 ����
!"#�������$%�%� (245 MHz) ��$ก��.��/ก����ก���01����$���"�� 2�ก��������
 ��!� ����
!���/� .����
 3��$ก��	�
ก�������� ��!� ����
!���/� .���ก��ก#���.��4�5����

�� ��  .���ก��4��6"��ก��2%� ��!� ����
! ��$.���ก����
 ��2%�ก7�ก893��$ก7���/ :./�

��/�$��
/..�
4��;��
� 
 
4.1  ก
���ก�
������ก
���
�
��������
�����
� ! 

ก�������� ��!� ����
!���/�  �� ก��������6�.ก����$ก��ก#�ก��.���ก��2%� ����
!���/�
�<�!��#�2���ก�.��$:/%�3"�
"�.4��"�=��8$6�กก��2%� ��!� ����
!���/�>�!
4��
�/����<���5�� ���
"�.��/3�$����
ก7�$��
/���$ ���4��
ก��.���"�=��8$ ����5ก�6 "�
 � ��?�=��� ก����ก�� 
��$ �����!� 
	�
��5 @��ก�6ก�������� ����
!���/���$ก��.��/ก�6ก���4��
A.�
�
� ก��ก#���.
�:/��/ก�������� ����
! ก��6�.�#�4���
ก#���. ����
!���/����
%�4� ก��6�.�#���� ����
!���/� 
ก��6�."�� ����
!���/� ก����ก2����1�4���/� ��� � ก��ก#���.��4�5����
�� �� ��$
4��6"����ก�8$��
��%�ก��� ��!�
���/� ��� ���$"���
���/� ��� � ก����$"��
�� ����
!
���/� ก��4��6"����$�BC�D0
���/� ก����
ก7�$��
/� 	����
 �� ��$ก����
 ��2%�ก7���/���.��/
���/� ��� � 6�กก����ก��	�����	�
ก�������� ��!� ����
!"#�������$%�%� (245 MHz) 
���กE��ก����ก��.�
 4���
�
! 4.1 
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4���
�
! 4.1  ก����ก��	������ก
!/�ก��ก�������� ��!� ����
!���/�         
 

�������ก�� �ก"�ก
���
�
��������
�����
� !         �� #�$�� 

1. �01����$���"�� 2�ก�������� ��!� ����
!���/� �  
2. ก�������� ����
!���/�	�
��$���;�/ �  
3. ก��ก#���.�:/��/ก�������� ����
!  � 

�������ก�� �ก"�ก
���
�
��������
�����
� !         �� #�$�� 

4. ก��6�.�#�4���
ก#���. ����
!���/����
%�4�  � 
5. ก��6�.�#���� ����
!���/�  � 
6. ก��6�."�� ����
!���/�  � 
7. ก����ก2����1�4���/� ��� �  � 
8. ก��ก#���.��4�5����
�� �� ��$4��6"����ก�8$     

��
��%�ก��� ��!�
���/� ��� ���$"���
���/� ��� � �  

9. ก����$"��
�� ����
!���/�  � 
10. ก��4��6"��ก��2%� ����
!���/���$� ��!�
���/� ��� � �  
11. 	����
 �� ��$ก����
 ��2%�ก7���/���.��/���/� ��� � �  

 
4.2  ก
���ก�
������&���
'ก
�(�"�(�!'ก
���
�
��������
����)*
��"�(��+
+� (245 MHz) 

4.2.1  �01����$���"�� 2�ก�������� ��!� ����
!"#�������$%�%� (245 MHz) 
ก�������� ��!� ����
!"#�������$%�%� (245 MHz) 2����N�;�4�����กก��������

 ��!� ������/� �<�!�2���
��$"��=�@�<��$ก��2���ก�.��$:/%�3"�
"�. 6�กก����ก��	������01����$
���"�� 2�ก�������� ��!� ����
!"#�������$%�%� (245 MHz) �����กE.�
4���
�
! 4.2 
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4���
�
! 4.2  �01����$���"�� 2�ก�������� ��!� ����
!"#�������$%�%� (245 MHz) 

��/ก�� 
2
)" 

����$
' 

���#��� 

��3$
'

����$
'�"4 

5
�ก"� 

5
��
 � 

��
�)�6 

����'��'

����+�� � 

+
7 

�"4 

5
� 

5
�

�
 � 

��6"��$


��
�

�(8�#(#6� 

1. �01��	�
ก����/�2%�
����
 ��!� ����
! (245 MHz) 	�
��ก%� �

ก��2%�
���/��
���ก���/ �%�� .���
��4"��ก��� .���"�=��8$@�/ .���
��ก�� ������.@�/ .������ก��
:�
��� :�
</���� ก��<�. �/��$
"������ ��!� ����
! O�O  

 

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

2. �01��	�
ก�����
%��
 ����
!
�$����
.���=��ก�6���ก��ก��.���
������"�=��8$@�/ "�=��8$ก��� 

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

3.  ก��6�."�� ��!� ����
!"#�����
��$%�%� (245 MHz) �
 ���ก���
%��

 ����
! (Bandwidth) ���/�ก��ก��� ���
4��
ก����$�����8ก��2%�
��	�

@� ��ก%� 

1.00 0.00 )�6����' 4.00 4.00 �
ก 

4. �01���ก
!/�ก����4�5����

�� �� 	�
� ��!�
���/� ��� ���$
���ก�83 ;��;.���4�5����
��%�ก��
4���
!ก#���.  

1.00 0.00 )�6����' 4.00 4.00 �
ก 

5. �01���ก
!/�ก��ก��4��6"��
ก��2%� ��!� ����
!���/� ������
 
�� :�:�/
	�
� ��!�
����
!���"��/
��$5��	������
!��N���4�5��
 ������ 

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 
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4���
�
!  2.4  (4��) 
 

��/ก�� 
2
)" 

����$
' 

���#��� 

��3$
'

����$
'�"4 

5
�ก"� 

5
��
 � 

��
�)�6 

����'��'

����+�� � 

+
7 

�"4 

5
� 

5
�

�
 � 

��6"��$


��
�

�(8�#(#6� 

6. �01��	�
����
!;.�������1�4 ;��
�E���4�4���
�!��;		�
2����1�4����
�
!ก7���/ก#���.;��  

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

 
6�ก4���
�
! 4.2  "���;.�����01����$���"�� 2�ก�������� ��!� ����
!"#�����

��$%�%� (245 MHz) ��$ก��.��/ ก���<�!������8ก��2%�� ��!�
���/� ��� �  ��!� ����
!"#�����
��$%�%� (245 MHz) :./�X<�$2��	4����
�
!�
��$%�ก�6#������ก ��$�	4����5ก�6
��4"��ก��� 6�
�#�2���ก�.ก���/�
2%���$ก�$�#�2���ก�8$6��6�
 ��!� ����
!:./�X<�$.��������=�
������"�=��8$@�/ "�=��8$ก���4��
A "�
��2���ก�.�01��ก����ก��6�ก� ��!�
���/� ��� �
��$���ก�83 �
!;��;.���4�5���<�� ��!����ก���� �<��ก�$6�/��ก;���ก��%��
 ����
!��!� "���4�
�
!�ก�.6�ก����
!;.�������1�4 ;���E���4�4���
�!��;		�
2����1�4�
!ก7���/ก#���.;��.��/ �01��
.���ก��4��6"��ก��2%� ��!� ����
!���/� ก�� ������$<�"�6�3��������
�
!ก#����."�11�8
��ก�� �� :�:�/
	�
� ��!�
����
!���"��/ ��$5��	������
!6#���N��
!;.���4�5�� ������ >�!

"�. ���
ก��
����6�/���!�
 ก����ก���01�� ��!���ก�� ����
!���/� ��� � /��� ����
!"�
��ก   
(245 MHz) "#�������$%�%� 	�
 ��/����@ 1�86��1 >�!
�
<�"�/�$����
 ��;��3 �$����
 0.00 
��
 1.00 �
 ��;���ก�� 1.50 �".
��� ����%
!/�%�1�
 ��� �.��Y�"�. ���
ก�� ��$��4��
�$����
��=/
5��ก��5����/��
 ������ก�� 0.00 >�!
�
 ��4!#�ก��� 1.00 �".
���ก����	�
����%
!/�%�1 �
 ��� �.
"�. ���
ก����$�
�$.�� �����N�;�;.� ��ก��
��ก�
!"�. 

4.2.2  �����
ก���������
ก�������� ��!� ����
!"#�������$%�%� (245 MHz) �<�!�2���ก�.
ก��2%�
���/��
 ��� ����ก�
!"�. 

ก�������� ��!� ����
!"#�������$%�%� (245 MHz) �<�!��#�2���ก�.��$:/%�3"�
"�.4��
"�=��8$ 2�ก��2%� ��!� ����
!���/�.��/ก��6�."�� ��!� ����
!��$�
ก��2%� ��!� ����
!�/��
�

��$"��=�@�< ��$�
�����
ก���E���4��<�!�"�
�"���2�ก��2%� ��!� ����
! �#�2���ก�.ก�����
;�"��
 �8 ��"�
"�. �����กE.�
4���
�
! 4.3 
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4���
�
! 4.3  �����
ก���������
ก�������� ��!� ����
!"#�������$%�%� (245 MHz) �<�!�2�� ��!� 
    ����
!>�!
��N����</�ก�=���%�4� ��ก2%�
���/��
 ��� ����ก�
!"�.  
 

��/ก�� 
2
)" 

����$
' 

���#��� 

��3$
'

����$
'�"4 

5
�ก"� 

5
��
 � 

��
�)�6 

����'��'

����+�� � 

+
7 

�"4 

5
� 

5
�

�
 � 

��6"��$


��
�

�(8�#(#6� 

1.  ��6�."�� ��!� ����
!4�����
 ��!� ����
!�
!"�. ���
4���
�!��;	 
	��ก#���.	�
"�@�<:�� ��� �
�$����
��$��� (ITU)  
 

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

2.  ��4��6"��ก��2%� ��!�
 ����
!"#�������$%�%� (245 MHz) 
"#��������ก�$�#���. <��.���/�
 ��� � <.�. 2498 

 

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

3. �
���
:���
!�	��
�.4�����2%�
 ��!� ����
!"#�������$%�%� (245 
MHz) �
!��;.��
ก��	����2����1�4 

1.00 0.00 )�6����' 4.00 4.00 �
ก 

4. ����/
��	�
��5��$��$%�%�
"�����2%� ��!� ����
!"#�����
��$%�%� (245 MHz) ����ก��;.�4��
 �������$"� 

0.50 0.00 )�6����' 5.00 5.00 �
ก���)!6 

5. 6�.�#�5��	�����ก��2%� ��!�
 ����
!"#�������$%�%� (245 MHz) 
��$���� �����6#�����/ 

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

6. ก#���.ก�$���ก����ก
2����1�42��
��/��$��.��Y��
!"�.
�<�!�2�����2%�"������	����
��$2%� ����
!
���/�;.���ก�
!"�. 

1.00 0.00 )�6����' 4.00 4.00 �
ก 
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4�
��
�
!  4.3  (4��)  
 

��/ก�� 
2
)" 

����$
' 

���#��� 

��3$
'

����$
'�"4 

5
�ก"� 

5
��
 � 

��
�)�6 

����'��'

����+�� � 

+
7 

�"4 

5
� 

5
�

�
 � 

��6"��$


��
�

�(8�#(#6� 

7. ก#���.2���#��� :�:�/
�
!�#�2��
�<�!���$"��=�@�<ก��2%� ��!� ����
! 

1.00 0.00 )�6����' 4.00 4.00 �
ก 

8. ก#���.�$��
/�ก��2%� ��!�
 ����
!���/�2��$��ก���C�
ก��
"�=��8$@�/��$@�/=���%�4�2�
�$.��@���@�  �<�!�2��"�!�"��ก��;.� 

0.50 0.00 )�6����' 5.00 5.00 �
ก���)!6 

 
6�ก4���
�
! 4.3  "���;.���� �����
ก���������
	�
ก�������� ��!� ����
!"#�����

��$%�%� (245 MHz) �
!2%�2�ก�6ก�����/� ��� �2���ก�.��$:/%�3"�
"�.��$�/��
�
��$"��=�@�< 
��$ก��.��/ ก��6�."�� ��!� ����
!4���
�!��;		��ก#���.	�
"�@�<:�� ��� ��$����

��$��� (ITU)  ก��4��6"��ก��2%� ��!� ����
!"#�������$%�%� (245 MHz) "#��������ก�$�#���. 
<��.���/� ��� � <.�. 2498 :./�
���
:���
!�	��
�.4�����2%� ��!� ����
!"#�������$%�%� (245 
MHz) �
!��;.�ก��	����2����1�4 ก����$"��
���� ��!� ����
! �$����
 ����/
��	�
��5 ��$
��$%�%�ก���#��� :�:�/
�
!�#�2���ก�.ก��2%� ��!� ����
!�/��
�
��$"��=�@�<��ก	�����2%� ��$
�$��
/�ก��2%� ��!� ����
!���/�2��$��ก���C�
ก��"�=��8$@�/��$@�/=���%�4�2��$.��@���@�  
�<�!�2��"�!�"��ก��;.� >�!
�
<�"�/�$����
 ��;��3 �$����
 0.00 ��
 1.00 �
 ��;���ก�� 1.50 �".
���
����%
!/�%�1�
 ��� �.��Y�"�. ���
ก�� ��$��4��
�$����
��=/5��ก��5����/��
 ������ก�� 0.00 
>�!
�
 ��4!#�ก��� 1.00 �".
���ก����	�
����%
!/�%�1�
 ��� �."�. ���
ก�� ��$�
�$.�� �����N�;�
;.� ��ก��
��ก�
!"�. 

4.2.3  ก��ก#���.��4�5����
�� ��  	�
� ��!�
���/� ��� �"#�������$%�%� (245 MHz)  
ก��ก#���.��4�5����
�� ��  ��N�	��ก#���.��4�5�� ก���."����$�����


4���/��
� ��!�
���/� ��� � 2���
ก��2%�
��� ��!�
���/� ��� ��
!�
 �8@�<����$"�"#�����ก�6ก��
���/� ��� �����A ��$;.���4�5��"�. ���
ก��ก7	����
 ���
!�ก
!/�	��
 �<�!���
ก��
!/
�01��ก��
��ก��>�!
ก����$ก�� �����กE.�
4���
�
! 4.4 
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4���
�
! 4.4 ก��ก#���.��4�5����
�� ��  	�
� ��!�
���/� ��� �"#�������$%�%� (245 MHz)  
�<�!�2��ก��2%�� ��!�
���/� ��� �O �ก�.��$:/%�3"�
"�.  ��.#�����ก���/��
;� 

 

��/ก�� 
2
)" 

����$
' 

���#��� 

��3$
'

����$
'�"4 

5
�ก"� 

5
��
 � 

��
�)�6 

����'��'

����+�� � 

+
7 

�"4 

5
� 

5
�

�
 � 

��6"��$


��
�

�(8�#(#6� 

1. ก#���.��4�5��%��
"�11�8 
(channel spacing) 2��2%��
 ������

�$����
 6.25 KHz �<�!��<�!�6#����
%��
"�11�8 

1.00 0.00 )�6����' 4.00 4.00 �
ก 

2. ก#���.��4�5��	�
"�/��ก��  
;��2���
��4��ก��	/�/ (Antenna Gain) 
"�
  

2.50 1.00 )�6����' 3.00 2.00 (
�ก�
' 

3. /ก���กก���#��	��� ��!�
���/�
 ��� ��
!�
ก#���
"�
��ก��ก���ก�� 5 
��443 

 
 

0.50 0.00 )�6����' 4.00 4.00 �
ก 

4. 6�.������
�� ��  ��$��%�ก�� 
2�����2%�� ��!�
���/� ��� � 

1.00 0.00 )�6����' 4.00 4.00 �
ก 

5. � ��!�
���/� ��� ��
!2%�
����N�
�������  ���
ก���#���4��6
��4�5��2����
ก ���
 

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

6.  ��4�.���/��	�$��
/������

��4�5�� ก#�ก��;��2����Y�%�.�6�6�ก
@�/��ก� ��!�
���/� ��� � 

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

7. ���ก�83:�� ��� ���ก��$�@�
�
!�#�
��:./�
ก��"�
 ��!� ����
!���/�        
6$4��
�#�ก�������
��4�5��.��/ 

1.00 0.00 )�6����' 4.00 4.00 �
ก 
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6�ก4���
�
! 4.4 "���;.����   ���
ก��ก#���.��4�5����
�� ��  	�
�� :�:�/
�
!�

 ������
�$����
 %��
"�11�8 (channel spacing) 6.25 KHz �
!�#�2���<�!�6#����%��
"�11�8��ก
	��� /ก���กก���#��	��� ��!�
���/� ��� ��
!�
ก#���
"�
��ก��ก���ก�� 5 ��443 6�.������
�� ��  ��$
��%�ก�� 2�����2%�� ��!�
���/� ��� � ก��4�.���/��	�$��
/�ก#�ก��;���
!4��� ��!�
 � ��!�
���/�
 ��� ��
!2%�
����N��������  ���
ก���#���4��6��4�5��2����
ก ���
 ��$4��6�����

��4�5�����ก�83:�� ��� ���ก��$�@��
!�#�
��:./�
ก��"�
 ��!� ����
!���/� >�!
�
<�"�/�$����
 
 ��;��3 �$����
 0.00 ��
 1.00 �
 ��;���ก�� 1.50 �".
�������%
!/�%�1�
 ��� �.��Y�"�. ���
ก�� 
��$��4��
�$����
��=/5��ก��5����/��
 ������ก�� 0.00 >�!
�
 ��4!#�ก��� 1.00 �".
���ก����	�

����%
!/�%�1�
 ��� �."�. ���
ก�� ��$�
�$.�� �����N�;�;.� ��ก��
��ก�
!"�. 

ก��ก#���.��4�5��	�
"�/��ก��  ;��2���
��4��ก��	/�/ (Antenna Gain) "�
 �
<�"�/
�$����
  ��;��3 ����ก�� 2.50 �
 ���ก�� 1.50 �".
�������%
!/�%�1�
 ��� �.��Y�;����Y�.��/ ��$
��4��
�$����
��=/5��ก��5����/��
 ������ก�� 1.00 >�!
�
 ������ก�� 1.00 �".
���ก����	�
����%
!/�%�1
�
 ��� �."�. ���
ก�� ��$�
�$.�� �����N�;�;.� ���ก��
 

4.2.4  ก��4��6"��ก��2%� ��!� ����
! 	�
 ��!� ����
!"#�������$%�%� (245 MHz) 
ก��4��6"��ก��2%� ��!� ����
!���/� ��N�ก��4��6"��ก����ก�� ��!� ����
!���/��
!

�ก�.	���ก��	��/���/� ��� �4��
A ���
2�ก�6ก�����/�ก�$6�/"
/
 ก�6ก��:������3 ��$ก�6ก�����/�
 ��� ���!�A ก��4��6<�"�6�3/��/����ก�8$��
�� �� ก���<�� ��!����/� ��$��ก�8$ก��2%�
��
	�
 ��!� ����
!���/����
/���
/�4��5��	����� ����
!�
!���1�4 ������
ก��"���"���ก�$���ก��
��
 ��2%�ก7���/.��/	�������ก��4��6<�"�6�3������$4��6 ����"���
���/��
!��.ก7���/ ��
���กE.�
4���
�
! 4.5 
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4���
�
! 4.5 ก��4��6"��ก��2%� ��!� ����
! 	�
 ��!� ����
!"#�������$%�%� (245 MHz) �<�!� 
�C�
ก����$�ก�;	ก����ก���/��
�
��$"��=�@�<  ��.#�����ก���/��
;� 
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1.  ��4��6"��ก��2%� ��!� ����
!
"#�������$%�%� (245 MHz) 2��
��N�;�4��  ��<������4��3��
�� ��  
�
!;.�ก#���. 

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

2.  ��4��6"��ก��ก�$�#�	�

ก�� ��� ��
 ����
! ��$ก��!��ก��
 
	�
���2%�� ��!�
���/� ��� � 

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

3. ก��4��6"��ก����ก�� ���

����
 ��� �����!���$��� 

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

4.  ��2%�� ��!�
�����$��=
ก���
!
���"��/2�ก�$���ก�� ����ก��
��ก���
!��.��Y��
!"�. 

0.50 0.00 )�6����' 5.00 5.00 �
ก���)!6 

5.  ��BfกB��� ��ก�2���
 ������/
 ���%#���12�ก��2%�� ��!�
���
4��6"�� 

 

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

6.  ���
5��	�����	�
���;.����
���1�4��$�
ก����<�.�	�����ก��
4��6"�� ����
!��N��$/$ 

0.50 0.00 )�6����' 5.00 5.00 �
ก���)!6 

7.  ���	��;� ��� ��
ก����ก��
������ ก�6ก�����/�"�� �����   

1.00 1.00 )�6����' 3.00 4.00 (
�ก�
' 
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6�ก4���
�
! 4.5 "���;.���� ก��4��6"��ก��2%� ��!� ����
!"#�������$%�%� (245 
MHz) 4��
2����N�;�4����4�5����
�� �� �
!;.�ก#���.;�� �%�� ก���<��ก�$6�/ ��!�
���ก����	�
"���
���/� ��� ��
!�
ก#���
"�
�
!�ก��	��ก#���.	�
2����1�4 ��N�4�� �
ก��
4��6"���BC�D0
ก��ก�$�#���ก�8$ก�� ��� ��
 ����
! ��$ก��!��ก��
 	�
���2%�� ��!�
���/�
 ��� � :./�
� ��!�
���4��6"���
!���"��/ �<�!�%��/2�ก�$���ก�� ����ก����ก���
!��.��Y�
�
!"�.��$�
����
 ��� �����!���$��� BfกB��� ��ก��
!�
 ������  ���%#���12�ก��2%�� ��!�
���O 
��$ก��ก��5��	������
!�������
:./4��. >�!
�
<�"�/�$����
 ��;��3 �$����
 0.00 ��
 0.50 �
 ��
;���ก�� 1.50 �".
�������%
!/�%�1�
 ��� �.��Y�"�. ���
ก�� ��$��4��
�$����
��=/5��ก��5��
��/��
 ������ก�� 0.00 >�!
�
 ��4!#�ก��� 1.00 �".
���ก����	�
����%
!/�%�1�
 ��� �."�. ���
ก�� ��$
�
�$.�� �����N�;�;.� ��ก��
��ก�
!"�. 

ก���	��;� ��� ��
ก����ก�������� ก�6ก�����/�"�� ����� �
<�"�/�$����
 ��;��3 
����ก�� 1.00 �
 ��;���ก�� 1.50 �".
�������%
!/�%�1�
 ��� �.��Y�"�. ���
ก�� ��$��4��
�$����

��=/5��ก��5����/��
 ������ก�� 1.00 >�!
�
 ������ก�� 1.00 �".
���ก����	�
����%
!/�%�1�
 ��� �.
"�. ���
ก�� ��$�
�$.�� �����N�;�;.� ���ก��
 

4.2.5  ก����
 ��2%�ก7�ก893��$ก7���/4��<�$��%��11�4����/� ��� � <.�. 2498  
�����
���!
	�
ก�������� ��!� ����
!���/��
!�
��$"��=��� 	����/��ก�� ���"�����

2�ก��ก#�ก��.���ก��2%� ��!� ����
!���/�����ก����
 ��2%�ก7���/ :./�X<�$ก7���/���.��/���/�
 ��� � 4�� <��. ���/� ��� � <.�. 2498  @��ก�6ก����
 ��ก��2����N�;�4��ก7���/ �
ก��
.#�����ก���
!"#� �1;.��ก�ก��4��6"��ก��2%� ����
!���/� ������
@��ก�6"����4����/� ��� � �<�!�
�#�	������
!;.��������
 ��ก��2����N�;�4��ก7���/ 4�����ก�$�#���. �����กE.�
4���
�
! 4.6 
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4���
�
! 4.6 ก����
 ��2%�ก7�ก893��$ก7���/4��<�$��%��11�4����/� ��� � <.�. 2498 4�� 
���2%�� ��!�
���/� ��� � ��!� ����
!"#�������$%�%� (245 MHz)  ��.#�����ก��
�/��
;� 
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1.  ���	��
�.2�ก��ก#�ก��.���
ก��2%� ��!� ����
!O 2����N�;�4��
%��
 ��!� ����
!�
!ก#���.  

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

2.  ���	��
�.ก��4��6"�� 2� 
���1�42%���$4��
"���
���/� ��� � 

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

3. ��/�<��ก7�$��
/���$�E���4�
�ก
!/�ก��ก����
 ��2%�ก7�ก893��$
ก7���/4��<�$��%��11�4����/�
 ��� � <.�. 2498  

1.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

4.  ���<�!����
:��"#�����
���ก�$�#� �����. <��. ���/� ��� � 
<.�. 2498 2��"�
	��� 

1.00 0.00 )�6����' 4.00 4.00 �
ก 

5.  ����h.:�ก�"2�����;.����
���1�4�
"�������2�ก���".
 ���
 �.��Y�2����!�
ก���C�
ก��ก����ก�� 

0.00 0.00 )�6����' 5.00 5.00 �
ก���)!6 

6.  ���
ก��4�ก�4�����
 ����
!O
4�����ก�$�#� �����. <��. ���/�
 ��� � <.�. 2498 

0.50 0.00 )�6����' 3.00 3.00 (
�ก�
' 

 
6�ก4���
�
! 4.6 "���;.����  ����/�<��ก7 �$��
/���$�����
�E���4��ก
!/�ก��ก��

��
 ��2%�ก7�ก893��$ก7���/4�� <��. ���/� ��� � <.�. 2498  ���	��
�.2�ก��4��6"�� 
2����1�42%���$4��
"���
���/� ��� � ��$ก��ก#�ก��.���ก��2%� ��!� ����
!2����N�;�4��
�
�!��;		�
ก����ก2����1�42%� ��$2����1�44��
"���
���/� ��� � �
ก���<�!����
:�� ��$
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.#����� .
ก�����2%�ก�$�#���. <��. ���/� ��� � <.�. 2498 �/��
�	��
�. ก����h.:�ก�"2�����;.����
���1�4�
"�������2�ก���".
 ��� �.��Y�2����!�
ก���C�
ก��ก����ก�� >�!
�
<�"�/�$����
 ��
;��3 �$����
 0.00 ��
 1.00 �
 ��;���ก�� 1.50 �".
�������%
!/�%�1�
 ��� �.��Y�"�. ���
ก�� ��$
��4��
�$����
��=/5��ก��5����/��
 ������ก�� 0.00 >�!
�
 ��4!#�ก��� 1.00 �".
���ก����	�

����%
!/�%�1�
 ��� �."�. ���
ก�� ��$�
�$.�� �����N�;�;.� ��ก��
��ก�
!"�. 

ก��4�ก�4�����
 ����
!O4�����ก�$�#� �����. <��. ���/� ��� � <.�.2498 �
<�"�/
�$����
 ��;��3 ����ก�� 0.50 �
 ��;���ก�� 1.50 �".
�������%
!/�%�1�
 ��� �.��Y�"�. ���
ก�� ��$
��4��
�$����
��=/5��ก��5����/��
 ������ก�� 0.00 >�!
�
 ��4!#�ก��� 1.00 �".
���ก����	�

����%
!/�%�1�
 ��� �."�. ���
ก�� ��$�
�$.�� �����N�;�;.� ���ก��
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 ��ก����	
���
��� ก����ก��������ก����
�����ก����������
���������� ���
�
��!"�"� (245 MHz) ����������+�ก����	
���!,-�������!./-/
�01�.���2 
 
5.1   ��	
��ก������� 

  5.1.1   �
0����!���5,��ก����	
� 
 �
0����!���5,��ก����	
���/
���2 

5.1.1.1  �6
����ก��������ก����
�����ก����������
���������� ���
���!"�"� (245 
MHz) 

5.1.1.2  ��ก���78����!���������ก����������
���������� ���
���!"�"� (245 
MHz) 
  5.1.2   ก��1�0
���1�� 
 ก��1�0
���1������"-��ก����	
� ��!ก��/-��+9-�"����"�8 ��,�����ก���:�������� 
.;;<��
����� �������=�ก����ก��.�10� �ก�1����88�:� ����!��ก��>5� ������1���-�� 15 �? ��
���
0 ����1� ����������������,�����ก����,-�� .�10� �ก�1��!/
��
���-������
��������1� 
  5.1.3   ���
����
�����"-��ก���กA�������,-��9� 
  5.1.3.1  ������ 1 ก��������������/��A��ก����ก
�������ก����
�����ก��������
��
���������� ���
���!"�"� (245 MHz) �
ก�>!���
����
���B����������������C/ 
  5.1.3.2  ������ 2 ก��������������/��A��ก����ก
�������ก����
�����ก��������
��
���������� ���
���!"�"� (245 MHz) �
ก�>!,�����
����
������������B������!�����1� 
(Rating Scales) 5 �!/
� 
  5.1.3.3  ������  3  ก���������6
� ������������/��A�,��+��
6O5��� ./-	�ก
����������������� 2 �ก����ก
�������ก����
�����ก����������
���������� ���
���!"�"� 
(245 MHz) �
ก�>!,����������� ��B������!�����1� 5 �!/
� �01�6���0 ����1�,���1��
O�
P�� ��!6��
��!��1�� ���.��5 ,��+9-0����������� 
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5.1.4  ก����ก��,-��9�ก����������
�������������� 
ก����������
�������������� �
� ก��������	
/ก����!ก��ก �ก
�/9��ก���"-������������

�6
��� ���-�ก�/��!:�"�5�9���/01���O��>!	�กก���"-��
��������������R���0-����91��6
2�P������
��/���!��1��กS�!�������!����0-��ก��/-����O��>! ����Pก�	 �
��� �
=�O��� ก����ก�� 
��!�����
����,���
P +9-��	
�./-��ก��,-��9�	�กก����	
�ก�1��:/����� /
���2  
 5.1.4.1  ก��ก ���/��0�P�������������!0��	����
ก�>!�����"�ก�����
��������
��������! ���������������� ��B�ก�!���ก�����8�0��-+9-./-�
�ก��	
/����������������"-
���
 ���������������� ���� �>T�6��/��-��ก
���0�P����ก� �6
����B���
ก��!ก
��1� ก��
0�/01��
�����	!0-��������"
/�	���!����>T�6 ��!�6
���<��ก
�����-���
���������������6�1
��
���������ก����1��������R���ก
���!ก
� �
2���2  �6
����-ก���"-��������������B�.���1����
��!���O�T�6 
 5.1.4.2  ก��0��	�����!�U<�;7������ ���
0����!���5�6
����-ก���"-������������,��
��1�������"ก�� �
P�����ก�	 ��!��ก"� ��B�.���1�����!�������!����!���O�T�6 �<��ก
� ��!
��������ก���"-���������������+�/กS������
�+�/�
0����!���5 �<��ก
�ก���
ก���/
ก;7�,1��,��
�����"ก�� ��!�/ก����ก����ก��0�/01��
����� 
 5.1.4.3  ก�����กS�!����� ,-��
��
� ��!ก���
��
��"-กS�����1�/-������������� 
ก��.���>��5:����,./-6�	��>�����,-��ก-.,�6����0��6�!��"�
88
0������������ กSก�!���� 
�!������>!ก���ก����!������ก��	
/��!��������������������1�"�0� ��!ก���>!ก���ก��
��!������ก��	
/��!��������������������1�"�0� �!�����ก��.���>��5:����, ��!��!ก��
ก��.���>��5:����, ��1��01���
�����:/�0��/ �6
��+1������ก�����������
�����������������
�
ก�>!��
������!�T� ��-��!"�"�./-�
������!/�ก��ก���"-�����ก����,�2� ��!�6
����-
����!��ก
����:�:���/-��ก���
��������6
=��.���1����/��A� ��ก	�ก�
2� ��ก���
��
��"-
กS�����1�/-������������� ก��.���>��5:����,�
�./-�1��ก
��	-���-����0 ���	��ก��/ �����ก��
0��กS����ก
�+9-ก�!� �+�/6�!��"�
88
0��������������ก/-�� 
  5.1.5  ก����ก��������ก����
�����ก����������
���������� ���
���!"�"� (245 MHz) 

ก��0�/01��
�����:/��"-���������������������1���������� ���
���!"�"� (245 
MHz) ������������!	 �����6�����ก,�2� ��
���	�ก�������!/�ก��ก���"-���./-��กก�	ก�� 
������
��.�������ก��,��
������8�0�"- 0
2�������������������-���
���ก���
��1��
88�>./-
�!�!.ก���ก,�2� กA������� �./-�"-./-:/�.�1��1���ก +�,��ก���6���	 ����:/�����	�กก�����
���� ��!ก �ก
�/9�����/� 	��� ���-�ก�/�78�� ��!�������,��ก����������
�������������������
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��!���O�T�6 +�ก����ก���78�� ������� ��!������ก����
�����,��ก����������
���������
� ���
���!"�"� (245 MHz) ����������./- /
���2 
 5.1.5.1  �78����!���������ก����������
���������� ���
���!"�"� (245 MHz) 
 1) ก���"-�������
��������� (245 MHz) ,��T����ก"� ��ก���"-�����1��
���ก���� �"1� /-����0���ก��� /-����O��>!T
� /-���
ก���������/T
� /-�����ก��:����� 
:��6����� ก��69/�����!���������
��������� W�W  
 2) ก����1�"1����������!��1��/-��O��ก�	���ก��ก
�/-����������O��>!T
� 
��O��>!ก��� ��ก���"-�������!��ก
� ��	 ����"1��������� 80 "1�� ���������1���ก���"-
��
��������� :/��Y6�!���,0��
���������!"�ก�	 ������ก ��!�,0����Pก�	��0���ก���  
 3) ก��	
/�����
���������� ���
���!"�"� (245 MHz) ������ก�-��"1��
������� (Bandwidth) ����!�� ��!��������/��ก
�����0-��ก�� ��!�����>ก���"-���,��
T����ก"� 
 4) ��0�P�����������,�����
�������������� ��!���ก�>5 �����+�� ���-�ก�/ 
ก���6�1��
�����ก���� �6�1ก�!	����ก.�ก����ก�� 
 5) ก��0��	���ก���"-��
��������� �����  �����9-������������!
��!��ก��>5,���	-���-���� ��!���:�:���,�����
����
�0��	���^����
2�P��,-��9������B�
��0�P������-�� 
 6) �����9-�����,-��	,��+9-���./-�
����8�0 ��
���กS �!����� ก��U`�Ua� ก��
ก�!� �+�/ 6��. ����������� 6.�. 2498 ��!��
���.,,�������8�0���กS����ก ���/.�-  
 5.1.5.2  ������ก����
�����ก����������
���������� ���
���!"�"� (245 MHz) 
�6
����-�ก�/ก���"-�����1����-��1���ก�����/ /
���2 
 1) 	
/�����
���������0���+���
��������������/��-��0����
���., 
,-�ก ���/,����T�6:���������!��1����!��� (ITU)  
 2) 0��	���ก���"-��
���������� ���
���!"�"� (245 MHz) � ���
�
+9-ก�!� �+�/ 6��.����������� 6.�.2498 
 3) ����:��01�+9-�"-��
���������� ���
���!"�"� (245 MHz) �����./-ก��
,��
������8�0  
 4) ก����!��������"1��������������1�����./-ก ���/��1������!��,��
��1�����,���
P ��!��!"�"��"-�1��ก
���ก���	-���0���!T
�6��
0�01��^ 
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 5) P��,-��9�ก���"-��
���������� ���
���!"�"� (245 MHz) ��!�-���-�
	 ���1�� 
 6) ก�!���ก����ก�����8�001�ก���,-����,��+9-,��
������8�0 :/�
� ���������!:�"�5��O��>! ��!��!:�"�5�"���
��� 
 7) ���:�:������� ���-ก���"-��
�������������!���O�T�6 
 8) �!�����ก���"-��
���������W���!��ก���<��ก
���O��>!T
� ��!T
�
O���"�0����!/
�T9��T��  
 5.1.5.3  ก��ก ���/��0�P����������� ,�����
��������������� ���
���!"�"� 
(245 MHz) �� /
���2 
 1) ��0�P��"1���
88�> (channel spacing) ����������1�� 6.25 KHz  
 2) ��0�P��,�������ก��  ������
0��ก��,��� (Antenna Gain) �9�  
 3) ก���ก���กก��� ��,-����
�������������������ก ��
��1���ก��ก���ก�� 5 �
005 
 4) �����9-��������� ��!��"�ก�� ��-+9-�"-���
�������������� 
 5) กS�!�����,�����
������������������"-�����B��������  
 6) ������,�!������
������0�P��  
 7) ���ก�>5:����������ก��!�T����� ����:/���ก���1���
��������������         
 5.1.5.4  ก��0��	���ก���"-��
���������,����
���������� ���
���!"�"� (245 
MHz) �� /
���2 
 1) ก��0��	���ก���"-��
���������� ���
���!"�"� (245 MHz) ��-��B�.�
0�� �1�6������0��5��������� ���./-ก ���/  
 2) ก��0��	���ก��ก�!� �,��ก����������������� ��!ก�
���ก�-� ,��
+9-�"-���
�������������� 
 3) ���
����
�0��	���ก����ก���
2������!	 ���� ��!������
����������"-
� ���
�0��	���������
������������
����!�����B���0�P�� 
 4) ���
����
���!��O�ก������
���
������/��ก�!���ก��0��	���ก����ก�� 
�6
����-�������-��� ��!�!�
��
88�>��ก����-��0���A������/ 
 5) �����ก����/-��ก��0��	���ก���"-������������ �����9-/����" ���8��
ก���"-���
����
�0��	��������������� 
 6) P��,-��9�,��+9-./-�
����8�0 ��!ก���
6�/�,-��9�ก��0��	����������
����� 
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 7) ก����-�����ก����ก�����
�� ก�	ก���������
����1� 
 5.1.5.5  ก���
��
��"-กS�ก>k5��!กS����0��6�!��"�
88
0������������ 6.�. 
2498  ��/
���2 
 1) ก��ก �ก
�/9��ก���"-��
��������� ��-��B�.�0��"1����
������������ก ���/ 
 2) ก��0��	��������8�0�"- ��!0
2����������������� 
 3) ก���+��6�1กS�!����� ��!�������l��
0��ก����ก
�ก���
��
��"-กS�ก>k5
��!กS����0�� 6��. ����������� 6.�. 2498 01���O��>! 
 4) ����:��� ���
�+9-ก�!� �����+�/ 6��. ����������� 6.�. 2498  
 5) ก�����1���1����ก����/�������/��A�����
���ก���<��ก
�ก����ก�� 
 6)  ��1���������U<�0��	���ก���"- ��!��ก��0
ก�0
������������W 
 
5.2  ���
����� 

      5.2.1  �78��ก����������
��������������� ���
���!"�"� 
 	�ก+�ก����	
�6��1� ก����������
���������� ���
���!"�"� (245 MHz) 	 ���B�0-��
��������!ก �ก
�/9�� ��-��/��-��ก
������>ก���"-�������6���,�2� :/�� ���������!:�"�5
��O��>!��!��!:�"�5�"���
��� ���6�	��>�"1����������"-�����/-��ก���<��ก
���O��>!T
�
��!T
�O���"�0�,����1��ก9-T
���
���1��Y�ก�Y��ก
�/-����0���ก��� ก�����ก�� ��-������
����!�� ��!.�1� ���-�ก�/+�ก�!��01�ก���
�������T�6��� ก��6�	��>�,��
������8�0
0��/	�ก�!���ก����ก�����8�0����1����!�!/�ก 	
/�กA�P��,-��9�,��+9-./-�
������8�0��-
��B��!����!��ก����
�����P��,-��9���B��!�! �6
����B�P��,-��9���ก��0��	���ก���"-��
��
������� �6
���!/�ก��ก���-��� ��!�!�
�0-���0����ก1���-�ก�/ก����ก�� ��!��ก�����:�:���
���/-��ก���
�����������������"-����
����������/����-�ก�/��!:�"�5 ��!����!���O�T�6�9���/ 

	�ก,-��-�6�/
�ก�1�� ��/���-��A��1� ก��	
/���	 ����"1������������-��ก�1������>
����0-��ก��,��+9-�
������8�0 ก���"-���,��T���
P ��!��!"�"�����
2��9���O�01��^ �!��
����
����������/���ก
���1��.�1���!����� P��,-��9�,��+9-�
������8�0�
�.�1���9�>5 � ���-ก��
0��	������1�ก ����/�
88�>��ก������ก�/	�ก+9-�"-���
����������������B�.�./-� ���ก 
 5.2.2  ก��ก ���/��0�P����������� ,�����
��������������� ���
���!"�"� (245 MHz) 
 	�ก+�ก����	
�6��1� ���
��������������� ���
���!"�"� (245 MHz) ����"-�������B�
�������^ ��+�� ���-�ก�/ก����ก����ก,�2� 	��	 ���B����	!0-��� ���0��	��0�P�����1��ก��
2� 
��!0�/������,�!������
������0�P�� ก �ก
�.�-��-��A�"
/�	� ก ���/��0�P�������"�ก����-
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�!�!�1��"1���
88�> 6.25 kHz �6
���6���	 ����"1���
88�> �ก���ก���
��������������W �����ก ��
�
�1��ก�� 5 �
005 ��!���ก�>5:�������� �"1� �����ก����		 ���B�0-��./-�
�ก���
������0�P��
/-��  
 	�ก,-��-�6�/
�ก�1�� ��/���-��A��1����
��������������� ���
���!"�"� (245 
MHz) �����ก���"-�����B��������	 ���B����	!0-��� ���0��	��0�P����ก��
2� ��!	!0-��0�/
������,�!����� ก �ก
�.�-��-��A�"
/�	�	�กT����ก���
��������������  
 5.2.3  ก��0��	���ก���"-��
��������� ,����
���������� ���
���!"�"� (245 MHz) 
 	�ก+�ก����	
�6��1� ก��/
ก�
���
��������6
��0��	���ก��ก�!� �,��ก����������
������� ��!ก�
���ก�-�,��+9-�"-���
����������������!�
ก�>!���������,������������������ 
�6
����-ก���"-��
���������B�.���1�����!����� ��!�9ก0-��0����0�P�� 	 ���B�	!0-����B����
����
�
����
���
� �������0��	����������!�!.ก������,�/�������������������
����!��� ��!
�����ก���-�������9- ����" ���8��ก���"-���
����
�W ��!ก��ก
�P��,-��9�����������
��-�./-
��1����/��A�  
 	�ก,-��-�6�/
�ก�1�� ��/���-��A��1� ���
����
�0��	�����!�����0��	���������
�!�!.ก� ����
2�P��,-��9���B�����	 ���B���1���������0-����ก����
�������-�
���
� ��!���:�:������
�������������9�  
 5.2.4  ก���
��
��"-กS�ก>k5��!กS����0��6�!��"�
88
0������������ 6.�. 2498 
 	�ก+�ก����	
�6��1� ก��ก �ก
�/9����-+9-./-�
����8�0�l��
0�0����
���.,,��
�����8�0�"- ��!�����8�00
2����������������� ��1���,-���/:/��+��6�1กS�!����� ��!
�������l��
0��ก����ก
�ก���
��
��"-กS�ก>k5��!กS����0��6�!��"�
88
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��= ��ก
�
)��������	
����1�� 2 �-������78��������
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1.  �7������7� !8���	$'�#!����9�ก��
������$%������
���&���"


!�'����  (245MHz) ����� 9�
��  

1.1  �G=�
ก
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B
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 ��1�
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�
�����
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1.2  �G=�
5�+ก
���:+�:�+��
�	��� ��:
+��
�B*�ก29��2ก
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�
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�
B
�< C�� �
B
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1.3  ก
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�	�� (Band Width) �����ก2�ก�:
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�5�+
C
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ก
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1.5  �G=�
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����	��� 
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)
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2.  �7������7� 	���� ก��!�"
!�# ก��
������$%������
���&���"
!�'���� 

(245 MHz) �2%��9���$%������
��:�� �!;���"2��ก�<�����=� 
�ก9�� ����7� 

�#���7���ก��� ����&�����ก����7� >� 
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�
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2.3  ���1
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�
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@
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ก
�����
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������ �
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�
 ��
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2.6  ก�
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�
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2.7  ก�
��������
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����-2���� �21B2C
-ก
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�����
�	�� 
2.8  ก�
���� �����ก
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�	��L��� ��ก
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B
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C���
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�ก��3�� 
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3.  �7������7� ก��ก&������=�@���� ������ A� ���%�� ����#������

�&���"
!�'���� (245 MHz) �2%��9��ก��9�����%�� ����#������B �ก��

!�'C���3�� �#� ����&�����ก����7� >� 
3.1  ก�
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.  3�:�������)�
ก
�5�
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ก
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�
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�
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4.  �7������7� ก��=��1��
ก��9���$%������
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�
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ก
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5.  �7������7� ก��
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5.3  �7��-�:กE� ������
 �X2��)2�ก����ก��ก
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� ��==�)2�21�*���
�� -... 2498 
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ก����ก��	���� ก��!�"
!�# ก��
������$%������
���&���"
!�'���� (245 MHz) 

�&���0	1  
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����1�� 3 ��?��4�ก
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�	/+ �?�
���ก5�+5����
�1��1:
�)����������	
����1�� 2 
   � ��
�	/+ �:
��B�@
�5�+5����
�9
ก��
)��5�+ก
*:�78��������
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   ��
�	/+ -2���� ��:
+���31
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ก��
)��5�+ก
*:�78��������
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   ��B�@
� ��
�	/+ �:
�?�
���ก��
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+5�+5���8
1�?+���9
ก
��
��2���;�5�+78��������
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-2���� ��:
+���31
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�	/+ �:�+�?�
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���4�3�3��5�+��
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=
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 5����
���3�:��������+��
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���4�3�3��5�+5����
�
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����1�� 3 ��?   1:
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�
�	����?�
���ก��
���4�3�3��5�+
5����
�1��1:
�3�:)�������1�� 2 3��   A���):
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���ก��
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ก1���*� ������;������
ก1���*� 
  4  ��
�	/+  ����2�1����4�3�3���
ก  ������;������
ก 
  3  ��
�	/+  ����2�1����4�3�3���
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�ก

+ 
  2  ��
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1.  �7������7� !8���	$'�#!����9�ก��
������$%������
���&���"


!�'����  (245MHz) ����� 9�
��  

1.1  �G=�
ก
����+
����
�����
�	�� (245 MHz) 5�+C
���ก�� ��ก
�
���+
���:
+�

ก�

� ��:� ��
��*�
�ก��� ��
��
B
�< C�� ��
���ก0

��
��
��C�� ��
���2ก
�A�+��� A�+-�
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�-8��*��
 ��1�
��
�
�����
�	�� L
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1.2  �G=�
5�+ก
���:+�:�+��
�	��� ��:
+��
�B*�ก29��2ก
�ก����
�
����1
�
B
�< C�� �
B
�< ก*.
 

1.3  ก
�9������
�����
�	����
������ �
�� (245MHz) ����
�ก��
+�:�+
��
�	�� (Band Width) �����ก2�ก�:
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�)��+ก
��
 ��2�
<ก
����+
�5�+
C
���ก�� 
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ก
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1.7  ����> A���� �*.................................................................................. 
 
 

 

 

 
 
 

... 
 

... 
 
 

... 
 

... 
 

... 
 

... 

... 

 

 

 
 
 

... 
 

... 
 
 

... 
 

... 
 

... 
 

... 

... 

 

 

 
 
 

... 
 

... 
 
 

... 
 

... 
 

... 
 

... 

... 

 

 

 
 
 

... 
 

... 
 
 

... 
 

... 
 

... 
 

... 

... 

 

 

 
 
 

... 
 

... 
 
 

... 
 

... 
 

... 
 

... 

... 

 

DPU



83 

 

���ก�� 

��
���4�3�3��5�+
���A���ก
���2�
�

�
�����
�	��L 
5 4 3 2 1 

2.  �7������7� 	���� ก��!�"
!�# ก��
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(245 MHz) �2%��9���$%������
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��+)
�

�+����355��ก�
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��� ��:
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�5��������*=
) 
2.4  ��:��+
�5�+��@�
 �� �
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2.7  ก�
��������
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B
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